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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T oF OPn B 1% Fr m = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
E2hE—TH 1 1 S EHR 4756 - 14 EAhE—TH 4 4 | SEERT 4756 - 20
E,XE—TH 1 3 |SEFERT 4756 - 12 EhE—TH 4 5 |SEFEHR 3351 - 152
EghE—TH 1 4 |55 R 4756 - 1 EhE—TH 4 6 |SEEHE 4762 - 24
EhE—TH 1 5 | &S ERT 4756 - 10 EhE—TH 4 1 S5 EHR 4762 - 23
ENE—TH 1 1 | SHER 4756 - 8 ENE—TH 4 8 |SEFEHR 4762 - 21
EHhE—TH 1 8 |=EFEM 4756 - i ENE—TH 4 9 |SEEHR 4762 - 22
EhE—TH 2 1 |S 5 ER 4756 - 4 EhE—TH 4110 |SEEHR 3351 - 155
ENE—TH 2 2 | & ERT 4756 - 5 ENE—TH 41 11 |SEHER 3351 - 154
EHhE—TH 2 3 |SEPERT 3351 - 156 EHhE—TH 4 | 12 |SEHER 3351 - 153
EhE—TH 2 4 | SEERT 3351 - 157 EhE—TH 4113 |SEER 4756 - 16
ENE—TH 2 5 &S ERT 4762 - 20 ENE—TH 4| 14 S5 ER 4756 - 15
EAXE—TH 2 6 |SEFEHRT 4762 - 19 EhE—TH 5 1 [SEHERr 4756 - 26
EhE—TH 2 1 S5 EE 4762 - 18 EHhE—TH 5 2 B E 4756 - 27
EhE—TH 2 8 |=EEmT 4762 - 17 EhE—TH 5 3 |EEERT 4756 - 28
ENE—TH 2 9 |SHER 4762 - 16 ENE—TH 5 4 |SEEHRT 4756 - 29
EghE—TH 2| 12 |SEER 4762 - 14 ENnE—TH 5 5 |25 R 4756 - 30
EhE—TH 2| 13 |2EER 4762 - 13 EhE—TH 5 6 |=EEH 4756 - 31
ENE—TH 2| 14 |\ S5 ER 4762 - 12 ENg—TH 5 1 =5 EHR 3351 - 148
EHhE—TH 2| 15 |SEER 4762 - 1 EHhE—TH 5 8 |SEFEHRT 3351 - 149
EhE—TH 2| 16 |SEER 4762 - 10 EhE—TH 5 9 |SEER 4762 - 26
ENE—TH 3 1 S EHR 4762 - 9 ENE—TH 51 10 |SEER 4762 - 25
EAXE—TH 3 2 |SEERT 4762 - 8 EAhE—TH 51 11 |SHERr 3351 - 151
EHhE—TH 3 3 |EEERT 4762 - 7 EhE—TH 51 12 |SEER 3351 - 150
EAhE—TH 3 5 | &S ERT 4762 - 5 EhE—TH 51 13 |25 ER 4756 - 25
ENE—TH 3 1 | SHER 4762 - 4 ENg—TH 51 14 |SHER 4756 - 24
EghE—TH 3 9 |SEEHR 4762 - 3 ENE—TH 51 15 |SEEHR 4756 - 23
EhE—TH 4 1 S5 ER 4756 - 17 EhE—TH 51 16 |=EEH 4756 - 22
ENE—TH 4 2 | & ERT 4756 - 18 Eng—TH 51 17 |BEER 4756 - 21
4 L




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
E2hE—TH 6 1 S EHR 4756 - 39 EAhE—TH 9 9 |EEER 3351 - 141
E,XE—TH 6 2 |SEERT 4756 - 40 EhE—TH 9| 10 |SEHER 3351 - 16
EhE—TH 6 3 |EEEm 4756 - 41 EhE—TH 9| 11 |SEER 3351 - 140
EhE—TH 6 4 | SEERT 4756 - 42 EhE—TH 9| 12 |BEER 3351 - 15
ENE—TH 6 5 |SEFEHRT 4756 - 43 ENE—TH 9| 15 |SEKER 3340 - 17
EhE—TH 6 6 |SEEHR 4756 - 44 ENE—TH 9| 16 |SEEHR 3340 - 76
EhE—TH 6 1 S5 EHR 4756 - 45 EhE—TH 9| 17 |=EEHR 3340 - 75
ENE—TH 6 8 |EEEmT 4756 - 46 ENE—TH 9| 18 |EEERT 3340 - 78
EHhE—TH 6 9 |SEFEHRT 3351 - 145 gME—TH | 10 1 |[SEERr 3340 - 80
EhE—TH 6| 10 |SEEHR 3351 - 147 gixE—TH | 10 2 |&EERT 3340 - 81
ENE—TH 6| 11 |SEER 3351 - 146 gixE—TH | 10 3 |EEERT 3340 - 82
E,XE—TH 6| 12 |SEER 4756 - 38 gMXE—TH | 10 4 |SEERT 3340 - 83
EhE—TH 6| 13 |SEER 4756 - 37 ginE—TH | 10 5 |25 R 3340 - 85
EAhE—TH 6| 14 |25 =R 4756 - 36 EgixE—TH | 10 6 |=EFREHR 3340 - 315
ENE—TH 6 | 15 |SEER 4756 - 35 eng—TH | 10 1 | S ER 3340 - 86
EHhE—TH 6| 16 |SEEHR 4756 - 34 grE—TH | 11 1 |EHER 3340 - 90
EhE—TH 6| 17 |25 =R 4756 - 33 gixE—TH | 11 2 |&EERT 3340 - 91
ENE—TH 6| 18 |EEERT 4756 - 32 eng—TH | 1 3 |EEERT 3340 - 92
EHhE—TH 8 1 B EHR 3351 - 144 gME—TH | 11 4 | SEERT 3340 - 93
EhE—TH 8 2 |&EERT 3351 - 17 ginE—TH | 11 5 | &S ERT 3340 - 95
ENE—TH 8 3 |EEERT 3351 - 6 gixE—TH | 11 6 |=EFREHR 3340 - 96
EAXE—TH 8 5 |SEFEHR 3351 - 8 gMrE—TH | 11 1 | S5 EHRT 3340 - 97
EhE—TH 8 1 |5 ER 3351 - 10 eng—TH | 11 8 |=EEmT 3340 - 98
EhE—TH 8 8 |=EFEmT 3351 - 1 ENnE—TH | 12 1 | S5 2R 3340 - 100
ENE—TH 8 9 |SHER 3351 - 12 ENng—TH | 12 2 |SEER 3340 - 101
EghE—TH 9 5 |SEERT 3340 - 111 EME—TH | 12 3 |EEERT 3340 - 102
EhE—TH 9 1 S5 EHR 3351 - 143 ENE—TH | 12 4 | SEERT 3340 - 103
ENE—TH 9 8 |EEERT 3351 - 142 eng—TH | 12 5 &S ERT 3340 - 105
s —6—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EM”E—TH | 12 6 |=EFREHR 3340 - 106 EgRE—TH | 15 1 S5 EHR 3340 - 155
EAXE—TH | 12 1 | S5 EHRT 3340 - 107 gMnE—TH | 15 8 |SEFEHRT 3340 - 156
ENE—TH | 12 8 |=EFEmT 3340 - 108 ENE—TH | 16 1 &5 2R 3340 - 178
ENnE—TH | 13 1 S EHR 3340 - 117 ENE—TH | 16 2 |&EERT 3340 - 180
enrg—TH | 13 2 |SEERT 3340 - 116 eNg—TH | 16 3 |SEFER 3340 - 181
EhE—TH | 13 3 |EEERT 3340 - 115 ENE—TH | 16 4 | SEERT 3340 - 182
EginE—TH | 13 4 | SEERT 3340 - 113 ENE—TH | 16 5 |&EFERT 3340 - 183
erg—TH | 13 5 & ERT 3340 - 112 ENg—TH | 16 6 |=EFREHR 3340 - 185
EhE—TH | 13 6 |SEFEHRT 3340 - 118 EMNE—TH | 16 1 | S S EHRT 3340 - 186
ENnE—TH | 13 1 |&S 5 EHR 3340 - 120 ENE—TH | 16 8 |SEFEMT 3340 - 187
EgN”E—TH | 13 8 |EEFEmT 3340 - 121 ENE—TH | 16 9 S EFEHR 3340 - 188
EAE—TH | 13 9 |SEFEHRT 3340 - 122 E2NRE—TH | 16 | 10 |52 EHRT 3340 - 190
ERE—TH | 13| 10 |SEHER 3340 - 123 ERE—TH | 16 | 11 |SEHER 3340 - 191
ENXE—TH | 14 1 |S 5 EHR 3340 - 142 ERAE—TH | 16 | 12 |SEHER 3340 - 192
enrg—TH | 14 2 |SEER 3340 - 141 EARE—TH | 16 | 13 |[SEER 3340 - 193
EhE—TH | 14 3 |EEERT 3340 - 140 EX”E—TH | 16 | 14 |5 ER 3340 - 195
ENXE—TH | 14 4 | SEERT 3340 - 138 eng—TH | 17 1 | =52 3340 - 198
eng—TH | 14 5 &S ERT 3340 - 137 eng—TH | 17 3 |EEERT 3340 - 321
ENXE—TH | 14 6 |SEEHR 3340 - 143 grnE—TH | 17 4 | SEERT 3340 - 322
ENXE—TH | 14 1 S5 ER 3340 - 145 EeNnE—TH | 17 5 |&EERT 3340 - 323
ENnE—TH | 14 8 |EEEmT 3340 - 146 ging—TH | 17 6 |=EFREHR 3340 - 324
EAXE—TH | 14 9 |SEFEHRT 3340 - 147 enre—TH | 17 1 | S5 ERT 3340 - 325
ERE—TH | 14| 10 |SHER 3340 - 148 eng—TH | 17 8 |SEEmT 3340 - 326
ENnE—TH | 15 2 |EEERT 3340 - 158 ERE—TH | 17 | 10 |SEHER 3340 - 328
eng—TH | 15 3 |SEER 3340 - 152 eng—TH | 19 1 | SHER 3340 - 215
EhE—TH | 15 4 | SEERT 3340 - 151 ENE—TH | 19 2 |SEERT 3340 - 213
ENE—TH | 15 5 | &S ERT 3340 - 150 ENnE—TH | 19 3 |EEERT 3340 - 208
eng—TH | 15 6 |=EFREHRT 3340 - 153 erg—TH | 19 4 | & EERT 3340 - 207
e —§—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
Ei”E—TH | 19 5 &S ERT 3340 - 206 ERE—TH | 22 1 S5 EHR 3340 - 246
EAXE—TH | 19 6 |SEFEHRT 3340 - 210 EMXE—TH | 22 8 |SEFEHRT 3340 - 245
ENnE—TH | 19 1 |5 ER 3340 - 211 ENE—TH | 22 9 |SEEHR 3340 - 243
ENnE—TH | 19 8 |=EFEmT 3340 - 212 ERAE—TH | 22 | 10 |SEHER 3340 - 242
eng—TH | 20 1 [ SHFER 3340 - 231 EAE—TH | 22 | 11 |[SEER 3340 - 251
EhE—TH | 20 3 |EEERT 3340 - 228 EX”E—TH | 22 | 12 |SHER 3340 - 252
ENXE—TH | 20 4 | SEERT 3340 - 227 ERE—TH | 22 | 13 |SEHER 3340 - 253
eng—TH | 20 5 & ERT 3340 - 226 EARAE—TH | 22 | 14 |[SEHER 3340 - 255
EAE—TH | 20 6 |SEFEHRT 3340 - 225 E2RE—TH | 22 | 15 |5EEHR 3340 - 256
ENXE—TH | 20 1 |&S 5 EHR 3340 - 223 ERE—TH | 22 | 16 |SEHER 3340 - 257
ENXE—TH | 20 8 |EEFEmT 3340 - 222 ENXE—TH | 23 2 |&EERT 3340 - 276
EAE—TH | 20 9 |SEFEHRT 3340 - 221 girE—TH | 28 3 |SEFER 3340 - 278
ERE—TH | 20 | 10 |SEHER 3340 - 220 ENXE—TH | 24 1 | &5 2R 3340 - 126
ERAE—TH | 20 | 11 |SEHER 3340 - 241 ENXE—TH | 24 2 |&EERT 3340 - 127
EARAE—TH | 20 | 12 |SEHER 3340 - 240 eNg—TH | 24 3 |SEER 3340 - 128
EX”E—TH | 20 | 13 | ER 3340 - 239 ENXE—TH | 24 5 |SEERT 3340 - 136
ERAE—TH | 20 | 14 |SEHER 3340 - 238 ENXE—TH | 24 6 |=EFREHE 3340 - 161
ERE—TH | 20 | 15 |SEHER 3340 - 237 eNng—TH | 24 1 = EHR 3340 - 162
EX”E—TH | 20 | 16 |SEER 3340 - 236 EME—TH | 25 1 [SEERr 3340 - 53
ERE—TH | 20 | 17 |SHER 3340 - 235 ENE—TH | 25 2 |&EERT 3340 - 57
EAE—TH | 20 | 18 |SEER 3340 - 233 ERE—TH | 25 3 |EEERT 3340 - 56
ERE—TH | 20 | 19 |52 EHRT 3340 - 232 ENE—TH | 25 4 |SEERT 3340 - 55
gNXE—TH | 21 1 S5 ER 3340 - 265 ENE—TH | 25 6 |SEEHE 3175 - 162
EiXE—TH | 21 2 |EEERT 3340 - 266 ENE—TH | 25 1 |SEEHR 3175 - 163
erg—TH | 22 1 |[SHFER 3340 - 260 ENg—TH | 25 8 |SEFEHRT 3175 - 164
ERE—TH | 22 3 |EEERT 3340 - 250 ENE—TH | 25 9 |SEER 3340 - 132
ENE—TH | 22 5 | &S ERT 3340 - 248 ERE—TH | 25 | 10 |SEHER 3340 - 319
Eng—TH | 22 6 |=EFREHRT 3340 - 247 eng—TH | 26 1 S EHR 3340 - Al
—9— o




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENE—TH | 26 2 |&EERT 3340 - 70 ERE—TH | 29 1 S5 EHR 3340 - 20
EAXE—TH | 26 3 |SEFERT 3340 - 69 EMXE—TH | 29 8 |SEFEHRT 3340 - 19
ENE—TH | 26 4 |55 EE 3340 - 68 ENXE—TH | 29 9 |SEEHR 3340 - 15
ENE—TH | 26 5 &S ERT 3340 - 67 EAE—TH | 29 | 10 |SEHER 3340 - 16
ENg—TH | 26 6 |SEFER 3340 - 66 EAE—TH | 29 | 11 [SEER 3340 - 17
ENE—TH | 26 8 |=EFEmT 3340 - 63 EARE—TH | 29 | 12 |SEHER 3340 - 18
ENnE—TH | 27 1 S EHR 3340 - 45 EgixE—TH | 30 3 |EEFERT 3175 - 73
erng—TH | 27 2 | & ERT 3340 - 46 eNg—TH | 30 4 |SEERT 3175 - 74
E,XE—TH | 27 3 |SEFERT 3340 - 47 g0XE—TH | 30 5 |SEFERT 3175 - 75
ENnE—TH | 27 4 | SEERT 3340 - 48 ERE—TH | 30 | 11 |[SEHER 3175 - 71
EN”E—TH | 27 5 | &S ERT 3340 - 52 EAE—TH | 30 | 12 |[SEHER 3175 - 78
EAXE—TH | 27 6 |SEFEHRT 3340 - 51 E2RE—TH | 30 | 13 |52 EHRT 3175 - 79
ENnE—TH | 27 1 |S 5 EE 3340 - 50 E4RE—TH | 30 | 14 |[SEHER 3175 - 81
ENnE—TH | 27 8 |EErEmT 3340 - 49 EARE—TH | 30 | 15 |[SEHER 3175 - 80
eng—TH | 28 1 |[SHFER 3340 - 38 EARE—TH | 30 | 17 |[SEER 3340 - 61
ENnE—TH | 28 2 B E 3340 - 37 ERE—TH | 30 | 18 |SEHER 3340 - 58
ENE—TH | 28 3 |EEERT 3340 - 36 gixE—TH | 31 1 | =52 3175 - 89
eng—TH | 28 4 | EEERT 3340 - 35 ENnE—TH | 31 2 | & ERT 3175 - 90
EHhE—TH | 28 5 |SEFEHRT 3340 - 43 EHhE—TH | 31 5 |&EERT 3175 - 91
ENE—TH | 28 6 |=EEHE 3340 - 4 EgixE—TH | 31 6 |=EREHE 3175 - 94
ENE—TH | 28 1 |= 5 EHR 3340 - 40 gixE—TH | 31 1 =5 EHR 3175 - 95
EHhE—TH | 28 8 |SEFEHRT 3340 - 39 gMXE—TH | 31 8 |SEFEHRT 3175 - 88
ENXE—TH | 29 1 S5 ER 3340 - 30 gixE—TH | 31 9 |SEEHR 3175 - 87
EN”E—TH | 29 2 |EEERT 3340 - 28 ERE—TH | 31 | 10 |[SEHER 3175 - 86
erg—TH | 29 3 |SEER 3340 - 25 EARE—TH | 31 | 12 |[SEHER 3175 - 84
ENXE—TH | 29 4 SR 3340 - 23 ERE—TH | 31 | 14 |SEHER 3175 - 82
ENE—TH | 29 5 | &S ERT 3340 - 22 ENE—TH | 33 1 |S 5 EHR 3175 - 40
Erg—TH | 29 6 |=EFREHRT 3340 - 21 eng—TH | 33 2 | &5 ERT 3175 - 41
i 12—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EN”E—TH | 33 3 |EEERT 3175 - 42 ENE—TH | 36 3 |EEERT 3175 - 18
EAE—TH | 33 4 |SEERT 3175 - 43 EMNE—TH | 36 6 |SEFEHRT 3175 - 21
ENE—TH | 33 5 |25 R 3175 - 44 ENE—TH | 36 1 |5 ER 3175 - 22
ENXE—TH | 33 6 |=EFREHR 3175 - 45 ginE—TH | 37 4 | SEERT 3175 - 60
erg—TH | 33 1 | SHER 3175 - 46 eng—TH | 37 5 |SEFEHR 3175 - 61
ENnE—TH | 33 8 |=EFEmT 3175 - 47 eirE—TH | 37 9 |SEEHR 3175 - n
ENE—TH | 33 9 |SEEHR 3175 - 48 ERE—TH | 37| 10 |SEHER 3175 - 70
ERE—TH | 33 | 10 |SEHER 3175 - 56 ERE—TH | 37| 12 |[SEHER 3175 - 68
E2RE—TH | 33 | 11 |5EEHRT 3175 - 55 E2R”E—TH | 37| 13 |5EEHR 3175 - 67
ERE—TH | 33 | 12 |SHER 3175 - 54 ERE—TH | 37| 15 |SHER 3175 - 65
EAE—TH | 33 | 13 |[SEHER 3175 - 53 ENRE—TH | 38 2 |&EERT 3175 - 108
ERE—TH | 33 | 14 |58 EHRT 3175 - 52 giXE—TH | 38 3 |SEFER 3175 - 109
ERE—TH | 33 | 15 |SHER 3175 - 51 ENE—TH | 38 4 |55 R 3175 - 110
ERE—TH | 33 | 16 |SEER 3175 - 50 ENXE—TH | 38 5 | &S ERT 3175 - 111
EAXE—TH | 33 | 17 |SEHER 3175 - 49 eng—TH | 38 6 |SEFER 3175 - 112
ENXE—TH | 34 1 S5 EHRT 3340 - 1 ENE—TH | 38 1 |5 ER 3175 - 113
ENXE—TH | 34 2 |&EERT 3340 - 10 ENE—TH | 38 8 |=EFEmT 3175 - 114
erng—TH | 34 4 | EEERT 3340 - 8 eng—TH | 38 9 |SEFREHR 3175 - 115
ENXE—TH | 34 5 |&EERT 3340 - 13 E2RE—TH | 38 | 10 |52 EHRT 3175 - 116
ENXE—TH | 34 6 |=EEHE 3340 - 12 ERE—TH | 38 | 11 |SEHER 3175 - 117
ERE—TH | 3 1 |SEER 3175 - 6 EAE—TH | 38 | 12 |[SEHER 3175 - 106
EHhE—TH | 35 5 |SEFEHRT 3175 - 10 ERE—TH | 38 | 13 |52 EHRT 3175 - 105
ENE—TH | 3 6 |SEEHE 3175 - 1 ERE—TH | 38 | 14 |[SEHER 3175 - 104
ENRE—TH | 3 1 |S 5 EHR 3175 - 12 EhE—TH | 38 | 15 |[SEER 3175 - 103
eng—TH | 35 8 |SEFEHRT 3175 - 13 EARE—TH | 38 | 16 |SEER 3175 - 102
ENE—TH | 3 9 |SEEHR 3175 - 14 ERE—TH | 38 | 17 |SEHER 3175 - 101
ENE—TH | 36 1 S5 EHR 3175 - 16 ERE—TH | 38 | 18 |SEHER 3175 - 100
eng—TH | 36 2 | & ERT 3175 - 17 EARE—TH | 38 | 19 [SEER 3175 - 99
13— .




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAE—TH | 38 | 20 |[SEER 3175 - 98 ERXE—TH | 40 9 |SEFEHR 3175 - 159
E2R”E—TH | 38 | 21 |52 EHRT 3175 - 97 E/NRE—TH | 40 | 10 |52 EHRT 3175 - 160
ERE—TH | 38 | 22 |SEHER 3175 - 96 EAE—TH | 40 | 11 |[SEHER 3175 - 161
ENXE—TH | 39 1 S EHR 3175 - 129 ERE—TH | 40 | 12 |[SEHER 3175 - 150
erg—TH | 39 2 |SEERT 3175 - 130 EAE—TH | 40 | 13 |SEER 3175 - 149
EhE—TH | 39 3 |EEERT 3175 - 131 EX”E—TH | 40 | 14 |5 ER 3175 - 148
ENE—TH | 39 4 | SEERT 3175 - 132 ERE—TH | 40 | 15 |[SEHER 3175 - 147
Erg—TH | 39 5 & ERT 3175 - 133 EARE—TH | 40 | 16 |[SEER 3175 - 146
EhE—TH | 39 6 |SEFEHRT 3175 - 134 ERE—TH | 40 | 17 |5EEHRT 3175 - 145
ENE—TH | 39 8 |=ErEmT 3175 - 136 ERE—TH | 40 | 18 |SEHER 3175 - 144
EAE—TH | 39 | 10 |[SEHER 3175 - 138 EAE—TH | 40 | 19 [SEHER 3175 - 143
ERE—TH | 39 | 11 |52 ER 3175 - 139 E/NRE—TH | 40 | 20 |52 EHRT 3175 - 142
ERE—TH | 39 | 12 |SHER 3175 - 128 ERE—TH | 40 | 21 |SEHER 3175 - 141
ERE—TH | 39 | 13 |SEHER 3175 - 127 ERE—TH | 40 | 22 |SEHER 3175 - 140
EAE—TH | 39 | 14 [SEHER 3175 - 126 ENg—TH | 4 1 S5 ERT 3175 - 23
EX”E—TH | 39 | 15 |5 ER 3175 - 125 erE—TH | # 3 |EEERT 3175 - 25
ERE—TH | 39 | 16 |SEHER 3175 - 124 gNxE—TH | 4 5 | &S ERT 3175 - 27
EARE—TH | 39 | 17 |[SEHER 3175 - 123 ENE—TH | 4 6 |=EFREHR 3175 - 28
E2RE—TH | 39 | 19 |52 EHRT 3175 - 121 gMrE—TH | 4 1 S ER 3175 - 29
ERE—TH | 39 | 21 |SHER 3175 - 118 EgNnE—TH | # 8 |=EFEmT 3175 - 30
ERE—TH | 40 1 |SEER 3175 - 151 gixE—TH | 4 9 |=EFREHR 3175 - 31
EAE—TH | 40 2 |SEPERT 3175 - 152 E2R”RE—TH | 41 | 10 |52 EHRT 3175 - 32
ENXE—TH | 40 3 |EEERT 3175 - 153 ERE—TH | 41 | 11 |SHER 3175 - 33
ENXE—TH | 40 4 | SEERT 3175 - 154 ERAE—TH | 41 | 12 |SHER 3175 - 34
eng—TH | 40 5 |SEFEHRT 3175 - 155 EAXE—TH | 41 | 13 |[SEHER 3175 - 35
EhE—TH | 40 6 |SEEMR 3175 - 156 EX”E—TH | 41 | 16 |2 ER 3175 - 38
ENXE—TH | 40 1 S EHR 3175 - 157 ENXE—TH | 43 1 |S 5 EHR 3175 - 180
eng—TH | 40 8 |EEERT 3175 - 158 eng—TH | 43 3 |EEERT 3175 - 181
—15— e




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EN”E—TH | 43 4 | SEERT 3175 - 183 EAE—TH | 45 | 10 |SEER 3175 - 217
EAE—TH | 43 5 |SEFEHRT 3175 - 184 ERE—TH | 45 | 11 |5EER 3175 - 216
ENXE—TH | 43 6 |SEEHE 3175 - 185 ERE—TH | 45 | 12 |SEHER 3175 - 215
ENXE—TH | 43 1 &5 EHR 3175 - 186 ENE—TH | 46 1 | =52 3175 - 221
erg—TH | 43 8 |SEFEHRT 3175 - 187 ENE—TH | 46 2 |SEERT 3175 - 222
EhE—TH | 43 9 |SEER 3175 - 195 ENE—TH | 46 3 |EEERT 3175 - 223
ERE—TH | 43 | 10 |SEHER 3175 - 194 ENE—TH | 46 4 | SEERT 3175 - 224
EARAE—TH | 43 | 11 |[SEHER 3175 - 193 ENE—TH | 46 5 | & ERT 3175 - 225
E2RE—TH | 43 | 13 |5EEHRT 3175 - 191 EMNE—TH | 46 6 |SEFEHRT 3175 - 226
ERE—TH | 43 | 15 |SHER 3175 - 189 ENE—TH | 46 1 |&EEHR 3175 - 227
ENXE—TH | 4 3 |EEERT 3175 - 167 ENE—TH | 46 8 | S EEmT 3175 - 228
EAE—TH | 4 5 |SEFEHRT 3175 - 169 EMNE—TH | 46 9 |SEFEHRT 3175 - 236
ENE—TH | 4 6 |SEEHE 3175 - 170 ERE—TH | 46 | 10 |SEER 3175 - 235
ENXE—TH | 4 8 |EErEmT 3175 - 17 ERE—TH | 46 | 11 |[SEER 3175 - 234
erng—TH | 4 9 | SHER 3175 - 179 EARE—TH | 46 | 12 |[SEER 3175 - 233
EXE—TH | 4 | 10 |SEER 3175 - 178 EX”E—TH | 46 | 13 |SEEMR 3175 - 232
ERAE—TH | 4 | 11 |SHER 3175 - 177 ERE—TH | 46 | 14 |[SEHER 3175 - 231
EARE—TH | 4 | 12 |[SEHER 3175 - 176 ERE—TH | 46 | 15 [SEER 3175 - 230
EXE—TH | 4 | 13 |5HER 3175 - 175 EN”E—TH | 46 | 16 |SEEMR 3175 - 229
ERE—TH | 44 | 15 |SHER 3175 - 173 ENE—TH | 47 3 |EEEmT 3175 - 198
ENE—TH | 45 1 |SEER 3175 - 209 EinE—TH | 47 4 | SEERT 3175 - 199
EH,XE—TH | 45 2 |SEPERT 3175 - 210 grE—TH | 47 5 |SEFEHRT 3175 - 200
ENE—TH | 45 3 |EEERT 3175 - 211 EgNnE—TH | 47 1 |5 ER 3175 - 202
ENE—TH | 45 4 | SEERT 3175 - 212 ENnE—TH | 47 8 |SEFEmT 3175 - 203
eng—TH | 45 5 |SEFEHRT 3175 - 213 Eng—TH | 47 9 |SHER 3175 - 204
EhE—TH | 45 6 |SEEMR 3175 - 214 EX”E—TH | 47 | 10 |55 ER 3175 - 205
ENE—TH | 45 1 S EHR 3175 - 220 ERE—TH | 47 | 11 |SHER 3175 - 206
eng—TH | 45 9 S EFREHR 3175 - 218 ERE—TH | 47 | 12 |SEHER 3175 - 207
—17— s




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ERE—TH | 47 | 13 |SEHER 3175 - 208 EAE—TH | 49 | 12 |[SEHER 3175 - 249
EAE—TH | 48 1 |25 EHR 3175 - 270 EN”E—TH | 49 | 13 |5EEHRT 3175 - 248
ENE—TH | 48 2 |EE5EE 3175 - 27 EARE—TH | 49 | 14 |[SEHER 3175 - 247
ENE—TH | 48 3 |EEERT 3175 - 272 ENXE—TH | 50 1 | =52 3175 - 242
eng—TH | 48 4 |SEFEHRT 3175 - 273 eNE—TH | 50 2 |SEERT 3175 - 243
EHhE—TH | 48 6 |SEER 3175 - 275 E2MXE—TH | 50 3 |EEERT 3175 - 244
ENXE—TH | 48 1 S5 EHR 3175 - 276 ENXE—TH | 50 4 | SEERT 3175 - 245
erng—TH | 48 8 |EEEmT 3175 - 277 EMNE—TH | 50 5 | & ERT 3175 - 246
EHAE—TH | 48 9 |SEFEHRT 3175 - 278 EgMXE—TH | 50 6 |SEFEHRT 3175 - 241
ERE—TH | 48 | 10 |SEHER 3175 - 269 ENXE—TH | 50 1 |&EEHR 3175 - 240
ERE—TH | 48 | 11 |SEHER 3175 - 268 ER”E—TH | 50 9 S EFEHR 3175 - 238
ERE—TH | 48 | 12 |52 EHRT 3175 - 267 EMRE—TH | 50 | 10 |52 EHRT 3175 - 237
ERE—TH | 48 | 13 |ESEHER 3175 - 266 giME—TH | 51 1 | &5 2R 3175 - 279
ERE—TH | 48 | 14 |[SEHER 3175 - 265 g,xE—TH | 51 3 |EEERT 3175 - 281
EARE—TH | 48 | 15 |SEER 3175 - 264 eNE—TH | 51 4 |SEEHR 3175 - 282
EX”E—TH | 48 | 16 | EER 3175 - 263 eME—TH | 51 5 |SEERT 3175 - 283
ERE—TH | 48 | 17 |SHER 3175 - 262 ginE—TH | 51 6 |=EFREHE 3175 - 284
ERE—TH | 48 | 18 |SEER 3175 - 261 ERE—TH | 51 | 11 |[SEHER 3175 - 292
EAE—TH | 49 1 B ER 3175 - 254 EX”E—TH | 51 | 12 |55 ER 3175 - 291
ENE—TH | 49 3 |EEERT 3175 - 256 ERE—TH | 51 | 13 |SHER 3175 - 290
ENRE—TH | 49 4 | EEERT 3175 - 257 ERE—TH | 51 | 14 |[SEHER 3175 - 289
E,hE—TH | 49 5 |SEFEHRT 3175 - 258 E2R”E—TH | 51 | 15 |5EERT 3175 - 288
ENXE—TH | 49 6 |SEEHE 3175 - 259 ENXE—TH | 54 3 |EEEmT 3175 - 335
ENXE—TH | 49 1 |S 5 EHR 3175 - 260 ENXE—TH | 54 6 |=EFREHR 3175 - 333
erg—TH | 49 8 |SEFEHRT 3175 - 253 eNg—TH | 54 1 | SHER 3175 - 332
EhE—TH | 49 9 |SEER 3175 - 252 ENE—TH | 54 8 |=ErEMT 3175 - 331
ERE—TH | 49 | 10 |SEHER 3175 - 251 ENXE—TH | 54 9 |SEEHR 3175 - 330
EAE—TH | 49 | 11 [SEHER 3175 - 250 EARE—TH | 54 | 10 |SEER 3175 - 329
19— o0




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAE—TH | 54 | 11 |SEHER 3175 - 328 EMNE—TH | 56 9 |SEFEHR 3175 - 353
ENRE—TH | 54 | 13 |52 EHRT 3175 - 326 EMRE—TH | 56 | 12 |52 EHRT 3175 - 350
ERE—TH | 54 | 14 |SEHER 3175 - 325 EARE—TH | 56 | 13 |[SEHER 3175 - 349
ERE—TH | 54 | 15 |BSEHER 3175 - 324 ERE—TH | 56 | 14 |[SEER 3175 - 348
EARE—TH | 54 | 16 |[SEER 3175 - 323 enNg—TH | 57 1 S5 ERT 3175 - 414
EXE—TH | 54 | 17 |SFER 3175 - 322 EeinE—TH | 57 2 |&EERT 3175 - 415
ERE—TH | 54 | 18 |SEHER 3175 - 321 EgNnE—TH | 57 3 |EEFERT 3175 - 416
ERE—TH | 54 | 19 [SEHER 3175 - 320 eNng—TH | 57 4 |SEERT 3175 - M7
E2RE—TH | 54 | 20 |52 EHT 3175 - 319 gMnE—TH | 57 5 |SEFERT 3175 - 418
ERE—TH | 54 | 21 |SHER 3175 - 318 ENE—TH | 57 6 |=EEHE 3175 - 423
ERE—TH | 54 | 22 |SHER 3175 - 317 ERE—TH | 57 1 S5 EHR 3175 - 422
ENRE—TH | 54 | 23 |52 EHRT 3175 - 316 gMrE—TH | 57 8 |SEFEHRT 3175 - A1
ERE—TH | 54 | 24 |SEHER 3175 - 315 ENE—TH | 57 9 |SEEHR 3175 - 420
ERE—TH | 54 | 25 |SEHER 3175 - 314 ERE—TH | 57 | 10 |SEHER 3175 - M9
ENE—TH | 5 1 |[SHFER 3175 - 341 eNgE—TH | 58 2 |SEER 3175 - 389
EHAFE—TH | 5 3 |EEERT 3175 - 343 ENE—TH | 58 3 |EEERT 3175 - 390
EMNE—TH | 55 4 | SEERT 3175 - 344 ENE—TH | 58 4 | S EERT 3175 - 391
ENE—TH | 5 5 &S ERT 3175 - 345 ENE—TH | 58 5 | & ERT 3175 - 392
EAFE—TH | 55 6 |SEFEHRT 3175 - 346 EHAE—TH | 58 6 |SEFEHRT 3175 - 397
ENE—TH | 55 1 S5 ER 3175 - 340 ENE—TH | 58 1 & ER 3175 - 396
ERE—TH | 55 | 10 |SEER 3175 - 337 ENE—TH | 58 8 |EEEmT 3175 - 395
ERE—TH | 55 | 11 |52 EHRT 3175 - 336 EME—TH | 58 9 |SEFEHRT 3175 - 394
ENE—TH | 56 1 S5 ER 3175 - 355 ERE—TH | 58 | 10 |SEHER 3175 - 393
EMNE—TH | 56 3 |EEERT 3175 - 356 ENE—TH | 59 1 S EHR 3175 - 362
ENE—TH | 56 4 |SEEHRT 3175 - 357 ENg—TH | 59 2 |SEER 3175 - 363
EHhE—TH | 56 5 | & ¥ ERT 3175 - 358 ENE—TH | 59 3 |EEERT 3175 - 364
ENE—TH | 56 6 |=EFREHE 3175 - 359 ENE—TH | 59 4 | SEERT 3175 - 365
ENE—TH | 56 1 =5 EHR 3175 - 360 eng—TH | 59 5 | & ERT 3175 - 366
Lo —22—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EN”E—TH | 59 6 |=EFREHR 3175 - 37 EAE—TH | 61 | 11 |[SEER 3175 - 411
EAE—TH | 59 1 | S5 EHRT 3175 - 370 EM”E—TH | 61 | 12 |52 EHRT 3175 - 410
ENE—TH | 59 8 |=EFEmT 3175 - 369 ERE—TH | 61 | 14 |[SEHER 3175 - 408
ENE—TH | 59 9 = EHR 3175 - 368 ERE—TH | 61 | 15 |[SEER 3175 - 407
EARE—TH | 59 | 10 |[SEER 3175 - 367 EARE—TH | 61 | 16 |SEER 3175 - 406
EHhE—TH | 60 1 S ER 3175 - 372 ENE—TH | 62 1 S ER 3175 - 424
ENXE—TH | 60 2 |&EERT 3175 - 373 EgNE—TH | 62 3 |EEFERT 3175 - 426
eNg—TH | 60 4 | SEERT 3175 - 375 ENg—TH | 62 4 |SEERT 3175 - 427
EHAE—TH | 60 5 |SEPEHRT 3175 - 376 gNE—TH | 62 5 |SEFERT 3175 - 428
ENXE—TH | 60 6 |=EEHE 3175 - 377 ENE—TH | 62 8 |SEFEMT 3175 - 437
EN”E—TH | 60 1 =5 EHR 3175 - 378 ENE—TH | 62 9 S EFEHR 3175 - 436
EAE—TH | 60 8 |SEFEHRT 3175 - 379 E2N”E—TH | 62 | 10 |52 EHRT 3175 - 435
ENE—TH | 60 9 |SEEHE 3175 - 387 ERE—TH | 62 | 11 |SEHER 3175 - 433
ERE—TH | 60 | 10 |SEER 3175 - 386 ENE—TH | 63 1 | =5 ER 3175 - 438
EARE—TH | 60 | 11 [SEER 3175 - 385 eng—TH | 63 2 |SEER 3175 - 439
EX”E—TH | 60 | 12 |5 ER 3175 - 384 ENE—TH | 63 3 |EEERT 3175 - 440
ERE—TH | 60 | 13 |[SEHER 3175 - 383 ENE—TH | 63 5 | &S ERT 3175 - 442
ERE—TH | 60 | 14 |[SEER 3175 - 382 eNg—TH | 63 6 |=EFREHR 3175 - 443
E2RE—TH | 60 | 15 |52 EHRT 3175 - 381 EME—TH | 63 8 |SEFEHRT 3175 - 451
ERE—TH | 60 | 16 |SEER 3175 - 380 ENE—TH | 63 9 |SEEHR 3175 - 450
EiXE—TH | 61 2 |&EERT 3175 - 399 EAE—TH | 63 | 10 |[SEER 3175 - 449
EAE—TH | 61 3 |SEFERT 3175 - 400 ERE—TH | 63 | 11 |52 EHR 3175 - 448
eNE—TH | 61 4 | SEERT 3175 - 401 ERE—TH | 63| 12 |SEHER 3175 - 447
ENXE—TH | 61 5 | &S ERT 3175 - 402 ERE—TH | 63 | 13 |[SEHER 3175 - 446
eng—TH | 61 6 |SEFER 3175 - 403 ENg—TH | 64 1 | SHER 3175 - 313
EHhE—TH | 61 1 = ER 3175 - 404 ENXE—TH | 64 2 |SEERT 3175 - 312
ENXE—TH | 61 8 |=ErEmT 3175 - 405 ENXE—TH | 64 3 |EEERT 3175 - 311
ERE—TH | 61 | 10 |[SEER 3175 - M2 eng—TH | 64 4 | & EERT 3175 - 310
—23— Coq




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENXE—TH | 64 5 &S ERT 3175 - 309 ENE-TH 2 5 |&EERT 3006 - 636
EAXE—TH | 64 1 | S5 EHRT 3175 - 307 EAE=TH 2 6 |SEFEHRT 3006 - 635
ENE—TH | 64 8 |=EFEmT 3175 - 306 ENE=TH 2 1 | ER 3006 - 634
ERE—TH | 64 | 10 |SEER 3175 - 304 ENE=-TH 2 8 |SEEmT 3006 - 633
EARE—TH | 64 | 11 |[SEER 3175 - 303 ENEZTH 3 1 S5 ERT 3006 - 648
ERE—TH | 64 | 13 |SEHER 3175 - 301 ENE=TH 3 3 |EHE 3006 - 646
ERE—TH | 64 | 14 |[SEHER 3175 - 300 ENE_TH 3 4 | S EERT 3006 - 645
ERE—TH | 64 | 16 |SEER 3175 - 298 ENEZTH 3 5 | & ERT 3006 - 644
E2RE—TH | 64 | 17 |ESEEHRT 3175 - 297 ENE=TH 3 6 |SEFEHRT 3006 - 643
ERE—TH | 64 | 18 |SEHER 3175 - 296 ENE=TH 3 1 |&EEHR 3006 - 642
EAE—TH | 64 | 19 [SEFER 3175 - 295 EAEZTH 3 8 |SEERT 3006 - 641
ENE=TH 1 1 S5 EHR 3006 - 429 ENE=TH 4 2 |SEERT 3006 - 537
ENXE=TH 1 2 |EE5EE 3006 - 544 ENnE=TH 4 5 |25 R 3006 - 65
ENE-TH 1 6 |=EFREHR 3175 - 506 ENE-TH 5 1 | S5 2R 3006 - 79
ENE=TH 1 8 |=EFEmT 3175 - 505 ENEZTH 5 2 |SEERT 3006 - 80
ENE=TH 1 8 |=EFEMT 3175 - 505 ENE=TH 5 3 |EHE 3006 - 81
ENE_TH 1 9 |SEEHR 3175 - 505 ENE_TH 5 4 | SEERT 3006 - 82
ENE=TH 1 9 &5 EHE 3175 - 505 ENEZTH 5 5 |S 5= 3006 - 83
ENE=TH 1 (10 |SEFERT 3175 - 505 ENE=TH 5 6 |SEFEHRT 3006 - 84
ENE=TH 1 (10 |SEFER 3175 - 505 ENE=TH 5 1 |&SEEHR 3006 - 85
EAEZTH 1 11 S5 ERr 3175 - 505 EAEZTH 5 8 |EEEmT 3006 - 86
ENE=TH 11 11 |SEER 3175 - 505 ENE=TH 5112 |SEHER 3006 - 76
ENE=TH 1112 (S5 ER 3175 - 505 ENE=TH 51 14 |SEER 3006 - 74
ENE-TH 1112 (S ER 3175 - 505 ENE-TH 51 15 |SEER 3006 - 73
EAEZTH 1| 14 | S5 ERT 3006 - 547 EAEZTH 5| 16 |SEER 3006 - 12
ENXE=TH 2 1 S5 ER 3006 - 640 ENE=TH 51 18 |SErEHRT 3006 - 70
ENXE_TH 2 3 |EEERT 3006 - 638 ENE-TH 6 1 | S5 ER 3006 - 54
ENE=TH 2 4 | SEEH 3006 - 637 ENE=TH 6 2 |55 R 3006 - 55
Lo —26—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENE-TH 6 3 |EEERT 3006 - 56 ENE-TH 7| 13 |25 ER 3006 - 29
EAXEZTH 6 4 |SEEHRT 3006 - 57 ENE=TH 1| 14 |SEER 3006 - 28
ENE=TH 6 5 |25 R 3006 - 58 ENE=TH 7| 15 [SEER 3006 - 27
ENE-TH 6 6 |=EEHR 3006 - 59 ENE=-TH 7| 16 |[SEEHR 3006 - 26
ENEZTH 6 1 | SHER 3006 - 60 EAEZTH 11 17 |SEER 3006 - 25
ENE=TH 6 8 |=EFEMT 3006 - 61 ENE=TH 7| 18 |[SEHEHR 3006 - 24
ENE_TH 6 9 |SEEHR 3006 - 62 ENE_TH 8 5 |&EERT 3006 - 16
ENEZTH 6| 10 |SE =R 3006 - 53 ENEZTH 8 6 |SEER 3006 - 17
ENE=TH 6| 11 |[SEERr 3006 - 52 ENE=TH 8 1 | S S EHRT 3006 - 18
ENE=-TH 6| 12 |SEER 3006 - 51 ENE=TH 8 8 |=EFEmT 3006 - 19
EAEZTH 6| 13 |=EER 3006 - 50 EAEZTH 9 1 | S ER 3006 - 221
ENE=TH 6| 14 |[SEER 3006 - 49 ENE=TH 9 3 |SEERT 3006 - 219
ENE=TH 6| 15 |SEEHR 3006 - 48 ENnE=TH 9 4 | SEERT 3006 - 218
ENE-TH 6| 16 |=EEHT 3006 - 47 ENE-TH 9 5 | &S ERT 3006 - 217
ENEZTH 6| 17 |SEHER 3006 - 46 ENEZTH 9 6 |SEFEHRT 3006 - 216
ENE=TH 6| 18 |SErEHRT 3175 - 497 ENE=TH 9 8 |2 R 3006 - 214
ENE_TH Ji 1 |S 5 EHR 3006 - 33 ENE_TH 9 9 |ZEER 3006 - 213
ENEZTH Ji 2 | & ERT 3006 - 34 En”E=-TH | 10 1 |SEER 3006 - 233
ENE=TH i 3 |EEERT 3006 - 35 EnE=TH | 10 2 |SEERT 3006 - 232
ENE=-TH Ji 4 | SEERT 3006 - 36 EnE=-TH | 10 3 |EEERT 3006 - 231
EAEZTH Ji 5 &S ERT 3006 - 37 EnE=-TH | 10 4 | SEERT 3006 - 230
ENE=TH i 6 |SEFEHRT 3006 - 38 EnE=-TH | 10 8 |SEFEHRT 3006 - 229
ENXE=TH Ji 1 |5 ER 3006 - 39 EnrE=TH | 1 1 | ESHER 3006 - 257
ENE-TH Ji 8 |=EFEmT 3006 - 40 erE=-TH | 11 2 |&EERT 3006 - 256
ENEZTH i 9 |SHER 3006 - 4 ExrE=-TH | 11 3 |SEFER 3006 - 255
ENE=TH 71 10 [SEER 3006 - 32 EnrE=-TH | 1 4 |55 REE 3006 - 254
ENE_TH 7| 11 [SEER 3006 - 31 ErE=-TH | 11 5 | &S ERT 3006 - 258
EAEZTH 71| 12 |25 ER 3006 - 30 EnE=-TH | 11 6 |=EFREHET 3006 - 259
o7 28—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EnrE=-TH | 11 8 |EEFERT 3006 - 261 ENE=-TH | 16 3 |EEERT 3214 - 167
E2M”E-TH | 13 1 |25 EHR 3214 - 155 E2NRE-TH | 16 4 |SEERT 3214 - 166
EX”E=TH | 13 2 |EE5EE 3214 - 9 EN”E=—TH | 16 5 |25 R 3214 - 33
EXE=-TH | 13 3 |EEERT 3214 - 10 ENXE=-TH | 16 6 |=EFREHR 3214 - 32
EREZ=TH | 13 4 | SEERT 3214 - 174 ERE-TH | 16 1 | S ER 3214 - 31
En”E=-TH | 13 5 |25 ER 3214 - 173 exre=—T8 | 17 1 |&HER 3006 - 274
EX”E=-TH | 13 6 |=EEH 3214 - 172 exre=—T8H | 17 2 |&EERT 3006 - 275
ER”E=-TH | 13 1 = EHR 3214 - 1 exrE=—TH | 17 3 |EEERT 3006 - 276
EXE=TH | 14 1 |25 ER 3214 - 14 ere=—TH | 17 4 |SEERT 3006 - 277
EXE=-TH | 14 2 |&EERT 3214 - 175 ExrE=—TH | 17 5 | &S ERT 3006 - 278
ENXE=-TH | 14 3 |EEERT 3214 - 176 enrE=—TH | 17 6 |=EFREHR 3006 - 279
EXE=TH | 14 4 |SEFEHRT 3214 - 177 gnE=—TH | 17 1 | S5 ERT 3006 - 273
EXE=-TH | 14 5 | & ¥ ERT 3214 - 178 ere=—T8 | 17 8 |=EEMT 3006 - 272
EnE=-TH | 14 6 |=EFREHR 3214 - 17 exre=—TH | 17 9 = EHR 3006 - 271
ENXE-TH | 15 1 |[SHFER 3214 - 161 EAXAEZTH | 17 | 10 |[SEHER 3006 - 270
EnE=-TH | 15 2 B E 3214 - 160 ERAEZTH | 17| 11 |SHER 3006 - 269
ENXE=-TH | 15 3 |EEERT 3214 - 159 EX”E=-TH | 18 1 | =52 3006 - 262
ENRE-TH | 15 4 | EEERT 3214 - 21 ENE-TH | 18 2 | & ERT 3006 - 263
EN”E=TH | 15 5 |SEFEHRT 3214 - 20 EnE=—TH | 18 3 |SEERT 3006 - 264
EN”E=-TH | 15 6 |=EEHE 3214 - 19 Ex”E=—TH | 18 4 | SEERT 3006 - 265
ENXE=-TH | 15 1 |= 5 EHR 3214 - 25 EnE=-TH | 18 5 | & ERT 3006 - 266
ENE=TH | 15 8 |SEFEHRT 3214 - 26 EnE=—TH | 18 6 |SEFEHRT 3006 - 267
ENXE=-TH | 15 9 |SEER 3214 - 162 Ex”E=—TH | 18 1 = ER 3313 - 8
ERAEZTH | 15 | 10 |SEHER 3214 - 163 ExrE=-TH | 19 1 S EHR 3006 - 280
EAXAEZTH | 15 | 11 |[SEHER 3214 - 164 EXE=TH | 19 2 |SEER 3006 - 281
EREZTH | 15| 12 |SHER 3214 - 165 Ex”E=-TH | 19 3 |EHE 3006 - 282
ENXE=-TH | 16 1 S5 EHR 3214 - 169 Ex”E=-TH | 19 4 | SEERT 3006 - 283
ENE-TH | 16 2 | & ERT 3214 - 168 EXE=-TH | 19 5 | & ERT 3006 - 284
Lo —30—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EX”E=TH | 20 1 S EHR 3006 - 295 ENXE=TH | 21 5 | &S ERT 3006 - 286
EMAE-TH | 20 2 |SEFERT 3006 - 296 E2,XE=-TH | 21 1 | S5 EHRT 3006 - 288
EX”E=TH | 20 3 |EEERT 3006 - 297 En”E=TH | 21 8 |=EFEMT 3006 - 289
EX”E=TH | 20 4 | SEERT 3006 - 298 ER”E=TH | 21 9 |SEEHR 3006 - 290
EX”E-TH | 20 5 |SEFEHRT 3006 - 299 EAEZTH | 21 | 10 |[SEER 3006 - 291
EX”E=TH | 20 6 |SEEHE 3006 - 300 EAEZTH | 21 | 11 |SHER 3006 - 292
EX”E=TH | 20 1 S5 EHR 3006 - 301 EX”E=TH | 22 1 | S5 ER 3214 - 44
EX”EZTH | 20 8 |EEEmT 3006 - 302 EXE=TH | 22 3 |EEERT 3214 - 42
EX”E=TH | 20 9 |SEFEHRT 3006 - 303 EXE=TH | 22 4 |SEERT 3214 - 41
ERAEZTH | 20 | 10 |SEHER 3006 - 304 EX”E=TH | 22 5 | &S ERT 3214 - 40
EARAEZTH | 20 | 11 |[SEHER 3006 - 305 EX”E=TH | 22 6 |=EFREHR 3214 - 39
ERE"TH | 20 | 12 |52 EHRT 3006 - 306 EXE=TH | 22 1 | S5 ERT 3214 - 38
EARAEZTH | 20 | 14 |SEHER 3006 - 308 E,X”E=TH | 23 1 | &5 2R 3214 - 58
ERAEZTH | 20 | 15 |SEHER 3006 - 309 E2X”E=TH | 23 2 |&EERT 3214 - 59
EARAEZTH | 20 | 16 |SEER 3006 - 310 EX”E=-TH | 23 3 |SEER 3214 - 60
EAXEZTH | 20 | 18 |SEHER 3006 - 312 E,X”E=TH | 23 4 |55 R 3214 - 61
ERAEZTH | 20 | 19 |SEHER 3006 - 313 EXE=TH | 24 2 |&EERT 3214 - 52
EAEZTH | 20 | 20 |SEER 3006 - 314 EXE-TH | 24 3 |EEERT 3214 - 53
EAXAEZTH | 20 | 21 |SEHER 3006 - 315 EXE=TH | 24 4 | SEERT 3214 - 57
EREZTH | 20 | 22 |SHER 3006 - 316 EX”E=TH | 24 5 |&EERT 3214 - 56
EAEZTH | 20 | 23 |SEHER 3006 - 317 EXE=TH | 24 6 |=EFREHR 3214 - 55
ERE"TH | 20 | 24 |52 EHRT 3006 - 318 ENXE=TH | 24 1 | S5 ERT 3214 - 54
EREZTH | 20 | 25 |SEHER 3006 - 319 EX”E=TH | 25 1 S5 ER 3214 - 45
ERAEZTH | 20 | 26 |SEER 3006 - 320 EXE=TH | 25 2 |&EERT 3214 - 46
EAEZTH | 20 | 27 |SEER 3006 - 321 EX”EZTH | 25 3 |SEFER 3214 - 47
ERAEZTH | 20 | 28 |SEHER 3006 - 322 ER”E=TH | 25 4 |55 R 3214 - 50
EREZTH | 20 | 29 [SEHER 3006 - 323 EX”E=TH | 25 5 | &S ERT 3214 - 49
EXE-TH | 21 3 |EEERT 3006 - 294 EX”E-TH | 25 6 |=EFREHR 3214 - 48
P —32—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENXE-TH | 26 1 S EHR 3214 - 89 EARAEZTH | 31 | 12 |[SEHER 3214 - 84
EMNXE-TH | 26 2 |SEFERT 3214 - 90 EMRE"TH | 31 | 13 |5EEHR 3214 - 83
ENXE=TH | 26 3 |EE R 3214 - 91 EX”E=TH | 32 1 &5 2R 3214 - 62
ENXE=TH | 26 5 &S ERT 3214 - 93 EX”E=TH | 32 3 |EEERT 3214 - 64
EREZTH | 26 1 | SHER 3214 - 97 ERAEZTH | 32 4 | SEERT 3214 - 65
EN”E=TH | 26 8 |=EFEmT 3214 - 96 EX”E=TH | 32 5 |25 R 3214 - 66
ENXE=TH | 26 9 |SEEHR 3214 - 95 EX”E=TH | 32 6 |=EREHE 3214 - 67
EARAEZTH | 26 | 10 |SEER 3214 - 94 EX”E-TH | 32 1 |=EEHR 3214 - 68
ExE=TH | 27 1 |25 ER 3214 - 99 EX”E=TH | 32 8 |SEFEHRT 3214 - 69
EXE=TH | 27 2 |&EERT 3214 - 100 EX”E=TH | 32 9 |SEEHR 3214 - 70
EnE=-TH | 27 3 |EEERT 3214 - 101 EAEZTH | 32 | 10 |[SEHER 3214 - Al
EXE=TH | 27 4 |SEFEHRT 3214 - 102 ERE"TH | 32 | 11 |5EEHR 3214 - 12
ErE=TH | 27 5 |25 R 3214 - 103 EREZTH | 32 | 12 |SHER 3214 - 73
EXE=TH | 27 6 |=EFREHR 3214 - 108 E2,X”E=TH | 33 1 | =5 ER 3217 - 147
EREZTH | 27 1 | SHER 3214 - 107 E2RAE-TH | 33 1 | SHER 3214 - 189
ExrE=TH | 27 8 |=EFEm 3214 - 105 EAEZTH | 33 | 10 |SEHER 3214 - 179
EREZTH | 27 | 10 |SHER 3214 - 104 EXE=TH | 34 1 | =52 3214 - 1
ENXE-TH | 28 1 S5 EHR 3214 - 109 EN”E-TH | 35 1 | S5 ER 3006 - 243
EX”E=TH | 28 2 |SEPERT 3214 - 110 EN”E=TH | 35 2 |SEERT 3006 - 242
EXE=TH | 28 3 |EEERT 3214 - 111 EX”E=TH | 35 3 |EEEmT 3006 - 241
EXE=TH | 28 4 | EEERT 3214 - 112 EN”E-TH | 35 4 | SEERT 3006 - 240
ENXE=TH | 28 5 |SEFEHRT 3214 - 113 EN”E=TH | 35 5 |SEFEHRT 3006 - 239
EX”E=TH | 29 1 S ER 3006 - 490 EX”E=TH | 35 6 |SEER 3006 - 238
EX”E=TH | 31 1 |SEEHR 3214 - 74 EN”E=-TH | 3 1 |SEEHR 3006 - 237
EREZ=TH | 31 4 | SEERT 3214 - 71 ERE-TH | 35 8 |SEEHRT 3006 - 236
E,X”E=TH | 31 5 |25 ER 3214 - 78 EN”E=TH | 3 9 |SEEHR 3006 - 235
EX”E=TH | 31 8 |=ErEmT 3214 - 88 ERAEZTH | 35 | 10 |SEHER 3006 - 234
EARAEZTH | 31 | 10 |[SEHER 3214 - 86 EARAEZTH | 35 | 11 |[SEER 3006 - 244
—33— Caq




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EARAEZTH | 35| 12 |SEHER 3006 - 245 EX”E=TH | 39 1 | S =R 3006 - 189
ERE-TH | 35| 13 |52 EHRT 3006 - 246 E2MR”E-TH | 39 2 |SEFEHRT 3006 - 190
ERE=TH | 35 | 14 |SEHER 3006 - 247 E,X”E=TH | 39 3 |EEHEm 3006 - 191
EREZTH | 35 | 15 |BEHER 3006 - 248 EX”E=TH | 39 4 | SEERT 3006 - 192
EARAEZTH | 35 | 16 |SEER 3006 - 249 ER”E=TH | 39 5 |SEFEHR 3006 - 193
ERE=TH | 35 | 17 |BHER 3006 - 250 E,X”E=TH | 39 6 |SEFEHE 3006 - 194
EREZTH | 35 | 18 |SEHER 3006 - 251 EX”E=TH | 39 1 S5 EHR 3006 - 195
EARAEZTH | 35 | 19 |[SEER 3006 - 252 EX”E=TH | 39 8 |SEEmT 3006 - 196
ERE"TH | 35| 20 |52 EHT 3006 - 253 EX”E=TH | 39 9 |SEFEHRT 3006 - 197
EN”E=TH | 36 1 S5 ER 3214 - 5 EAEZTH | 39 | 10 |SEHER 3006 - 188
ENXE-TH | 36 2 |&EERT 3006 - 228 EAEZTH | 39 | 11 [SEHER 3006 - 187
EN”E=TH | 36 4 |SEFEHRT 3006 - 226 ERE"TH | 39 | 12 |52 EHR 3006 - 186
EN”E=TH | 36 5 |25 R 3006 - 225 EAEZTH | 39 | 13 |2EHER 3006 - 185
ENXE=TH | 36 6 |=EFREHR 3006 - 224 EAEZTH | 39 | 14 [SEHER 3006 - 184
ENXE-TH | 36 1 | SHER 3006 - 223 EAEZTH | 39 | 15 [SEER 3006 - 183
EnE=TH | 37 1 S5 EHRT 3180 - 6 EARAEZTH | 39 | 16 |SEER 3006 - 182
EX”E=TH | 37 2 |&EERT 3006 - 212 ERAEZTH | 39 | 17 |SHER 3006 - 181
ENXE=-TH | 37 3 |EEERT 3006 - 211 EAEZTH | 39 | 18 |[SEER 3006 - 180
En”E=TH | 37 5 |&EERT 3006 - 209 EX”E=TH | 40 1 [SEERr 3006 - 171
Ex”E=TH | 37 6 |=EEMR 3006 - 208 EX”E=TH | 40 2 |&EERT 3006 - 172
EXE=TH | 37 1 |= 5 EHR 3006 - 207 EX”E=TH | 40 3 |EEERT 3006 - 173
EnE=TH | 37 8 |SEFEHRT 3006 - 206 EX”E=TH | 40 4 |SEERT 3006 - 174
EXE=TH | 37 9 |SEER 3006 - 205 EX”E=TH | 40 5 |SEERT 3006 - 175
ENXE=TH | 38 2 |EEERT 3006 - 198 EX”E=TH | 40 6 |=EFREHR 3006 - 176
ERE-TH | 38 3 |EEERT 3006 - 199 EARAEZTH | 40 1 | SHER 3006 - 177
EX”E=TH | 38 4 SR 3006 - 200 EX”E=TH | 40 8 |=EF R 3006 - 178
ENXE=TH | 38 6 |=EFREHE 3006 - 202 EX”E=TH | 40 9 |SEEHR 3006 - 179
ENXE=TH | 38 8 |EEERT 3006 - 203 EAEZTH | 40 | 10 |[SEER 3006 - 170
a5 —36—




VHC2 6456 3 0 A% A2 6176 )13 0 B

oE R B £ FFr i " oE R B £ FFr i "
i ® |5 BT & . ] i) ' 5 H % F i
ENEZTH | 40 | 11 |SEER 3006 - 169 ENEZTH | 43| 3 |SEFEm 3006 - 511
ENEZTH | 40 | 12 |SEEHT 3006 - 168 ENXE"TH | 43| 4 |SHER 3006 - 512
ENEZTH | 40 | 13 |SEER 3006 - 167 ENXEZTH | 43| b |SEHEMN 3006 - 513
ENEZTH | 40 | 14 |SEZER 3006 - 166 ENEZTH | 43| 6 |SEF=m 3006 - 514
ENEZTH | 40 | 15 |SEZER 3006 - 165 ENEZTH | 43| 7 |=5%=E 3006 - 515
ENEZTH | 40 | 16 |SEZEM 3006 - 164 ENEZTH | 43| 8 |S%F=EM 3006 - 516
ENEZTH | 40 | 17 |SEZER 3006 - 163 ENXEZTH | 43| 9 |S%EM 3006 - 508
ENEZTH | 40 | 18 |SEZEHRT 3006 - 162 ENEZTH | 43 | 10 |SEZER 3006 - 507
ENXEZTH | 41 1 |&EFEm 3006 - 153 ENXEZTH | 43| 11 |SHER 3006 - 506
ENAEZTH | 4 2 |SEEHR 3006 - 154 ENEZTH | 43 | 12 |SEHER 3006 - 505
ENAEZTH | 41 3 |EEEHR 3006 - 155 ENEZTH | 43 | 13 |SEH=ZER 3006 - 504
ENXEZTH | 41 4 |=EERT 3006 - 156 ENE_"TH | 43| 15 |SE5EH 3006 - 503
ENEZTH | 41 5 |SEEHR 3006 - 157 EXEZTH | 43 | 17 |S5FE 3006 - 501
EANAEZTH | 41 6 |=EFEHT 3006 - 158 ENEZTH | 43 | 18 |SEZER 3006 - 93
ENXAEZTH | 4 1 |=EERT 3006 - 159 ENEZTH | 4| 1 |S%=E 3006 - 525
ENXEZTH | 41 8 |=EFEHR 3006 - 160 ENXEZTH | 4| 2 |SFEMN 3006 - 526
ENAEZTH | 41 9 |SEFEHT 3006 - 161 ENXEZTH | 4| 3 |S5HEM 3006 - 527
ENEZTH | 41 | 10 |SE5ZER 3006 - 152 ENEZTH | 4| 4 |S%ER 3006 - 528
EXEZTH | 41 | 11 |SEFER 3006 - 151 ENXEZTH | 4| b |SFEM 3006 - 524
ENEZTH | 41 | 12 |S5ER 3006 - 150 ENEZTH | 4| 6 |SEH=EM 3006 - 523
ENEZTH | 41 | 13 |SE5=ZER 3006 - 149 ENEZTH | 4| 7 |5%=Em 3006 - 114
EAXAEZTH | 41 | 14 |SHEHT 3006 - 148 ENEZTH | 46| 1 |SHEHR 3006 - 129
ENXEZTH | 41 | 15 |SEER 3006 - 147 ENEZTH | 45| 2 |SEFEM 3006 - 130
ENEZTH | 41 | 16 |SEZER 3006 - 146 ENEZTH | 45| 3 |SE=EM 3006 - 532
ENEZTH | 41 | 17 |S5=ER 3006 - 145 ENEZTH | 45| 4 |S%ER 3006 - 533
ENXEZTH | 41 | 18 |SEER 3175 - 499 ENEZTH | 45| b |SEFEM 3006 - 534
ENEZTH | 43| 1 |S%=E 3006 - 509 ENEZTH | 45| 6 |SE=ZEM 3006 - 531
ENEZTH | 43| 2 |5%Em 3006 - 510 ENEZTH | 4| 7 |S%Em 3006 - 530
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENXE-TH | 45 8 |EEFERT 3006 - 529 EAEZTH | 49 | 13 [SEHER 3006 - 339
ENRE-TH | 45 9 |SEFEHRT 3006 - 123 ENRE"TH | 49 | 14 |5EEHRT 3006 - 340
ENEZTH | 46 1 S5 ER 3006 - 88 EARAEZTH | 49 | 15 |SEHER 3006 - 341
ENXEZ-TH | 46 3 |EEERT 3006 - 90 EARAEZTH | 49 | 16 |SEER 3006 - 342
EREZTH | 46 5 |SEEHRT 3006 - 92 ERE=TH | 50 1 S5 ERT 3006 - 343
ENE=TH | 46 6 |SEEHE 3174 - 5 E,R”E=TH | 50 2 |EHE 3006 - 344
ENXE"TH | 46 1 S5 EHR 3174 - 4 ER”E=TH | 50 3 |EEFERT 3006 - 345
ENEZTH | 46 8 |EEEmT 3006 - 135 ER”E=TH | 50 4 |SEERT 3006 - 346
ENE=TH | 46 9 |SEFEHRT 3006 - 136 E,R”E=TH | 50 5 |SEFERT 3006 - 347
EREZTH | 46 | 10 |SEHER 3006 - 535 EX”E=TH | 50 6 |=EEHE 3006 - 348
EARAEZTH | 46 | 11 |[SEHER 3006 - 536 ER”E=TH | 50 1 S5 EHR 3006 - 349
ENRE"TH | 46 | 12 |52 EHRT 3006 - 140 ER”E=TH | 50 8 |SEFEHRT 3006 - 350
EREZTH | 46 | 13 |SEHER 3006 - 520 E,X”E=TH | 50 9 |SEEHR 3006 - 351
EREZTH | 46 | 14 |[SEHER 3006 - 521 EAEZTH | 50 | 10 |SEER 3006 - 352
EAREZTH | 46 | 15 |SEER 3006 - 522 EAEZTH | 50 | 11 [SEER 3006 - 353
EX”E=TH | 48 1 S5 EHRT 3006 - 324 EAEZTH | 50 | 12 |SEHER 3006 - 354
ENXE=TH | 48 2 |&EERT 3006 - 542 ERAEZTH | 50 | 13 |SEHER 3006 - 355
ENXEZTH | 48 3 |EEERT 3006 - 543 EARAEZTH | 50 | 14 |[SEER 3006 - 356
EX”E=TH | 49 1 B ER 3006 - 327 EN”E=TH | 51 1 S ER 3006 - 421
EX”E=TH | 49 2 |&EERT 3006 - 328 EN”E=TH | 51 2 |&EERT 3006 - 422
EXEZ=TH | 49 3 |EEERT 3006 - 329 ER”E=TH | 51 3 |EEERT 3006 - 423
EXE=TH | 49 4 |SEEHRT 3006 - 330 EN”E=TH | 51 4 |SEERT 3006 - 424
EXE=TH | 49 5 |SEERT 3006 - 331 EN”E=TH | 51 5 |SEERT 3006 - 425
EXE=TH | 49 6 |=EFREHR 3006 - 332 EX”E=TH | 52 1 S EHR 3006 - 426
ERAEZTH | 49 1 | SHER 3006 - 333 EREZTH | 52 2 |SEERT 3006 - 428
ERAEZTH | 49 | 10 |SEHER 3006 - 336 EXE=TH | 52 3 |EHE 3006 - 427
ERAEZTH | 49 | 11 |[SHER 3006 - 337 EX”E=TH | 53 3 |EEERT 3006 - 418
EARAEZTH | 49 | 12 |[SEHER 3006 - 338 EN”E=-TH | 53 4 | & EERT 3006 - 419
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EN”E=TH | 53 5 &S ERT 3006 - 420 ER”E-TH | 5 4 | SEERT 3006 - 379
E2MNXE-TH | 53 6 |SEFEHRT 3006 - 415 EMNREZTH | 5 5 |SEFEHRT 3006 - 380
EX”E=TH | 53 1 = ER 3006 - 413 ER”E=TH | 55 6 |=EEHRT 3006 - 381
EARAEZTH | 53 | 10 |SEHER 3006 - 411 ER”E=TH | 5 1 |S 5 EHR 3006 - 382
EAEZTH | 53 | 11 |[SEHER 3006 - 410 ER”E-TH | 55 8 |SEFEHRT 3006 - 383
EAREZTH | 53 | 12 |SHER 3006 - 409 EN”E=TH | 5 9 |SEEHR 3006 - 384
EXE=TH | 54 1 S EHR 3006 - 398 EREZTH | 55 | 10 |SEHER 3006 - 385
ENXEZTH | 54 2 | & ERT 3006 - 399 EARAEZTH | 55 | 12 |SEHER 3006 - 375
EX”E=TH | 54 3 |SEFERT 3006 - 400 EMRE"TH | 55 | 13 |2 EHT 3006 - 374
EX”E=TH | 54 4 | SEERT 3006 - 401 ERAEZTH | 55 | 14 |SHER 3006 - 373
EXE=TH | 54 5 | &S ERT 3006 - 402 EREZTH | 55 | 17 |SEHER 3006 - 370
EN”E=TH | 54 6 |SEFEHRT 3006 - 403 EMRE"TH | 55 | 18 |27 EHT 3006 - 369
EXE=TH | 54 1 |S 5 EE 3006 - 404 EREZTH | 55 | 19 |SEHER 3006 - 368
ENXE=TH | 54 9 = EHR 3006 - 406 EAEZTH | 55 | 20 |SEER 3006 - 367
EAEZTH | 54 | 10 |SEER 3006 - 407 EARAEZTH | 55 | 21 |SEER 3006 - 366
EREZTH | 54 | 11 |SHER 3006 - 408 EARAEZTH | 55 | 22 |SEHER 3006 - 365
EREZTH | 54 | 12 |SHER 3006 - 397 ENXE=TH | 56 2 |&EERT 3153 - 8
EARAEZTH | 54 | 13 |SEHER 3006 - 396 ENE_TH | 56 3 |EEERT 3006 - 357
EXEZTH | 54 | 14 |55 ER 3006 - 395 ENE=TH | 56 4 |SEERT 3006 - 358
EREZTH | 54 | 15 |SHER 3006 - 394 EN”E=TH | 56 5 |&EERT 3006 - 359
EARAEZTH | 54 | 17 |SEHER 3006 - 392 ENE-TH | 56 6 |=EFREHR 3006 - 360
ENRE"TH | 54 | 18 |52 EHT 3006 - 391 ENE=TH | 56 1 | S5 ERT 3006 - 361
EREZTH | 54 | 19 |SEHER 3006 - 389 EN”E=TH | 56 8 |SEEmT 3006 - 362
ERAEZTH | 54 | 21 |SEHER 3006 - 388 ENE=-TH | 56 9 |SEEHR 3006 - 363
EARAEZTH | 54 | 22 |EEHER 3006 - 387 EAEZTH | 56 | 10 |SEER 3006 - 364
ER”E=TH | 55 1 S5 ER 3006 - 376 EnE=TH | 57 1 S5 ERT 3153 - 16
ENXEZTH | 55 2 |&EERT 3006 - 377 EX”E=TH | 57 5 | &S ERT 3153 - 10
ENXEZTH | 55 3 |EEERT 3006 - 378 EREZTH | 57 | 12 |SEHER 3153 - 15
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENXE-TH | 58 3 |EEERT 3006 - 519 EAE=TH 4 1 | S5 ER 3351 - 24
EMNXE-TH | 58 5 |SEFEHRT 3006 - 578 ENE=TH 4 2 |SEFEHRT 3351 - 25
EX”E=TH | 59 1 S5 ER 3145 - 5 EAE=TH 4 3 |EEF R 3351 - 26
EAE=TH 1 1 S EHR 3351 - 184 EAE=TH 4 4 | SEERT 3351 - 27
ENE=ZTH 1 2 |SEERT 3351 - 183 ENE=TH 4 5 |SEFER 3351 - 31
EHAXE=TH 1 3 |EEE 3351 - 182 EHhE=TH 4 6 |SEEHET 3351 - 30
ERE=TH 1 5 | &S ERT 3351 - 180 EAE=TH 4 1 S5 EHR 3351 - 29
ENE=ZTH 1 5 & ERT 3351 - 180 ENE=ZTH 4 8 |EEEmT 3351 - 28
ENE=TH 1 6 |SEFEHRT 3351 - 179 ENE=TH 5 1 [SEERr 3351 - 40
EARE=TH 1 1 S ER 3351 - 178 EHARE=TH 5 2 |SEER 3351 - 39
EAE=TH 2 2 |&EERT 3351 - 185 EAE=TH 5 4 | SEERT 3351 - 37
ENE=TH 2 3 |SEFERT 3351 - 186 ENE=TH 5 5 |SEFER 3351 - 36
EHhE=TH 2 4 SR 3351 - 187 EHhE=TH 5 1 |5 EE 3351 - 42
EAE=TH 2 5 &S ERT 3351 - 188 EAE=TH 5 8 |SEFEmT 3351 - 43
ENE=ZTH 2 1 | SHER 3351 - 34 ENE=TH 5 9 |SEFEHRT 3351 - 44
EAXE=TH 2 8 |=EFEmT 3351 - 35 EHARE=TH 51 10 |SEEHR 3351 - 45
EAE=TH 2 9 S EHR 3351 - 33 EAE=TH 6 1 | S5 ER 3351 - 118
ENE=ZTH 2| 11 |55 ER 3351 - 193 ENE=ZTH 6 2 | & ERT 3351 - 119
EAXE=TH 2| 12 |BEHERr 3351 - 192 EHAE=TH 6 3 |SEPERT 3351 - 120
EARE=TH 2| 13 |BEER 3351 - 191 EARE=TH 6 5 | &S ERT 3351 - 122
EAE=TH 2| 14 |BEER 3351 - 190 EAE=TH 6 6 |ZEER 3351 - 123
ENE=TH 2| 15 |SHEmRr 3388 - 4 ENE=TH 6 1 | S5 EHRT 3351 - 124
EHhEZ=TH 2| 16 |SEER 3351 - 265 EARE=TH 6 8 |=EFEMT 3351 - 125
EAE=TH 2| 17 |25 =R 3351 - 19 EAE=TH 6| 11 |SEER 3351 - 128
ENE=ZTH 2| 18 |SEHER 3351 - 18 ENE=TH i 1 S5 ERT 3351 - 61
EARE=TH 3 1 S ER 3351 - 20 EHAQE=TH Ji 2 |EHE 3351 - 62
ERE=TH 3 2 |&EERT 3351 - 21 EAE=TH i 3 |EEERT 3351 - 63
ENE=ZTH 3 3 |EEERT 33561 - 22 ENE=TH i 4 | SEERT 3351 - 64
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i

EAE=TH Ji 5 &S ERT 3351 - 65 EAE=TH 8| 15 |ZErERT 3351 - 55
ENE=TH 1 6 |SEFEHRT 3351 - 66 ENE=TH 8 | 16 |SEEMR 3351 - 54
E,XE=TH Ji 1 |5 ER 3351 - 67 EAE=TH 8 | 17 |SEEH 3351 - 53
EAE=TH Ji 8 |EEEmT 3351 - 68 EAE=TH 8| 18 |=ErEHT 3351 - 52
ENE=ZTH Ji 9 |SHER 33561 - 69 EARAE=TH | 10 1 S5 ERT 3360 - 23
EAXE=TH 71 10 [SEER 3351 - 78 EAQE=TH | 10 2 |BHE 3360 - 26
ERE=TH 7| 11 [SEER 3351 - 77 EARAE=TH | 10 3 |EEFERT 3360 - 25
ENE=TH 1| 12 |25 ER 3351 - 76 EAE=TH | 1 1 | S5 ER 3360 - 5
ENE=TH 71 13 |SEER 3351 - 75 E2nE=T8H | 1 3 |SEFERT 3360 -

EARE=TH 7| 14 [SEER 3351 - 74 ERE=TH | 11 5 | &S ERT 3360 - 8
EAE=TH 7| 15 [SEER 3351 - 73 EAE=TH | 11 6 |=EFREHR 3360 -

ENE=TH 1] 16 |SEFEHR 3351 - 12 EnE=TH | 1 1 | S S ERT 3360 - 10
EhE=TH 71 17 S ER 3351 - 1A ERE=TH | 11 8 |=EFEM 3360 - 11
EAE=TH 7| 18 |=EEHR 3351 - 70 EAE=TH | 11 9 S EHR 3360 - 12
ENE=ZTH 8 1 [SHER 33561 - 46 EAE=TH | 11| 10 |[SEER 3360 - 14
EHAQE=TH 8 2 |EHE 3351 - 47 EAE=TH | 11| 11 |[SHER 3360 - 13
EAE=TH 8 3 |EEERT 3351 - 48 ERE=TH | 11| 12 |[SHER 3360 - 15
ENE=ZTH 8 4 |SEERT 3351 - 49 EARAE=TH | 11| 13 [SEHER 3360 - 16
EAE=TH 8 5 |2 EFEHRT 3351 - 50 ERE=TH | 11| 17 |SHER 3360 - 20
EARE=TH 8 6 |=EEHR 3351 - 51 ERE=TH | 11| 18 |SHER 3360 - 21
EAE=TH 8 1 =5 EHR 3351 - 194 ERAE=TH | 11| 19 [SEER 3360 - 22
ENE=TH 8 8 |SEFEHRT 3351 - 195 ERE=TH | 11| 20 |52 EHRT 2996 - 119
EAREZ=TH 8 9 |SEEHR 3351 - 196 ERE=TH | 12 1 |EHER 3360 - 27
EAE=TH 8| 10 |ZErEHT 3351 - 60 EARAE=TH | 12 2 |&EERT 3360 - 28
ENE=ZTH 8 | 11 |[SHERr 3351 - 59 EARE=TH | 12 3 |SEFER 3360 - 29
EAhE=TH 8| 12 |SErEHR 3351 - 58 EAE=TH | 12 4 |55 R 3360 - 30
EAE=TH 8 | 13 |=ErER 3351 - 57 ERE=TH | 12 5 | &S ERT 3360 - 31
ENE=ZTH 8 | 14 |BEER 3351 - 56 EAE=TH | 12 6 |=EFREHR 3351 - 206
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAE=TH | 12 1 S5 EHR 3360 - 32 EAE=TH | 14 1 | S =R 3351 - 94
EX”E=TH | 12 8 |SEFEHRT 3360 - 33 EnE=TH | 14 3 |SEER 3351 - 96
EAE=TH | 12 9 |SEEHR 3360 - 34 EARAE=TH | 14 4 |55 R 3351 - 97
ERAE=TH | 12 | 10 |SEHER 3360 - 37 EAE=TH | 14 5 | &S ERT 3351 - 98
EAXAE=TH | 12 | 11 |SHER 3351 - 205 EAE=TH | 14 6 |SEFER 3351 - 99
ERE=TH | 12 | 12 |SHER 3351 - 204 EAQE=TH | 14 1 |S 5 ER 3351 - 100
ERE=TH | 12 | 13 |SHER 3351 - 203 EAE=TH | 14 8 |SEFEmT 3351 - 101
EARAE=TH | 12 | 14 |[SEHER 3351 - 202 EAE=TH | 14 9 |SEFEHR 3351 - 109
ERE=TH | 12 | 15 |5EER 3351 - 201 ERE=TH | 14 | 10 |5EEHRT 3351 - 108
ERE=TH | 12 | 16 |SEHER 3351 - 200 ERE=TH | 14| 11 |SHER 3351 - 107
ERAE=TH | 12 | 17 |SHER 3360 - 36 EARAE=TH | 14| 12 |[SEHER 3351 - 106
ERE=TH | 12 | 18 |E5EEHRT 3360 - 35 ENRE=TH | 14 | 13 |5EER 3351 - 105
EARE=TH | 13 1 S5 ER 3351 - 197 ERE=TH | 14| 14 |SEHER 3351 - 104
EAE=TH | 13 2 |&EERT 3351 - 198 ERAE=TH | 15 1 | =5 ER 3351 - 129
EAE=TH | 13 3 |SEFER 3351 - 199 EARAE=TH | 156 2 |SEER 3351 - 130
EARE=TH | 13 4 |55 EE 3351 - 79 EAE=TH | 15 3 |EHE 3351 - 250
ERAE=TH | 13 5 | &S ERT 3351 - 80 ERE=TH | 15 4 | S EERT 3351 - 131
EAE=TH | 13 6 |=EFREHR 3351 - 81 EARAE=TH | 156 6 |=EFREHR 3351 - 134
EQ”E=TH | 13 8 |SEPEHRT 3351 - 83 EN”E=TH | 15 8 |SEFEHRT 3351 - 136
ERE=TH | 13 9 |SEEHR 3351 - 84 ERE=TH | 15 9 |SEEHR 3351 - 137
EARAE=TH | 13| 10 |[SEHER 3351 - 93 EARAE=TH | 156 | 10 |SEHER 3351 - 138
ERE=TH | 13| 11 |58 ER 3351 - 92 ERE=TH | 15| 11 |5EER 3351 - 139
ERE=TH | 13| 12 |SHER 3351 - 91 ERE=TH | 16 1 S5 ER 3351 - 113
ERE=TH | 13 | 13 |[SHER 3351 - 90 EARAE=TH | 16 2 |&EERT 3351 - 112
EARAE=TH | 13| 15 [SEHER 3351 - 88 EAE=TH | 16 3 |SEFER 3351 - 111
ERE=TH | 13| 16 |SEHER 3351 - 87 EARE=TH | 16 4 |55 R 3351 - 110
ERE=TH | 13 | 17 |SHER 3351 - 86 ERE=TH | 16 5 | &S ERT 3351 - 208
EARAE=TH | 13 | 18 |SEHER 3351 - 85 EARAE=TH | 16 6 |=EFREHR 3351 - 207
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i

EAE=TH | 16 1 S5 EHR 3360 - 39 EAE=TH | 18 3 |EEERT 2996 - 318
ENXE=TH | 16 8 |SEFEHRT 3360 - 38 EnE=TH | 18 3 |SEER 2996 -

EARE=TH | 16 9 |SEEHR 3360 - 40 EAhE=TH | 18 4 |55 R 2996 -

ERE=TH | 16 | 10 |SEHER 3360 - 4 EAE=TH | 18 6 |=EFREHR 2996 -

EAXAE=TH | 16 | 11 [SEER 3360 - 42 EAE=TH | 18 8 |SEFEHRT 2996 - 9
EAXAE=TH | 16 | 12 |SHER 3351 - 209 EAE=TH | 19 1 |&HER 2996 - 34
ERE=TH | 16 | 13 |SEHERN 3351 - 114 EAE=TH | 19 2 |&EERT 2996 - 35
EARAE=TH | 16 | 14 |[SEHER 3351 - 115 EAE=TH | 19 3 |EEERT 2996 - 36
ERE=TH | 16 | 15 |52 EHRT 3351 - 116 EX”E=TH | 19 4 |SEERT 2996 - 37
ERE=TH | 16 | 16 |SEHER 3351 - 117 EAE=TH | 19 5 | &S ERT 2996 - 38
ERE=TH | 17 1 S EHR 2996 - 1 EAE=TH | 19 6 |=EFREHR 2996 - 39
EnE=TH | 17 2 |SEERT 2996 - 12 EXE=TH | 19 1 | S5 ERT 2996 - 40
ERE=TH | 17 3 |=EFEm 2996 - 13 EAE=TH | 19 8 |=EF R 2996 - 33
ERAE=TH | 17 4 | SEERT 2996 - 14 EAE=TH | 19 9 = EHR 2996 - 32
EARAE=TH | 17 5 |SEFEHRT 2996 - 15 EAE=TH | 19| 10 [SEER 2996 - 31
ERE=TH | 17 6 |SEEHE 2996 - 16 EARAE=TH | 19 | 11 |[SHER 2996 - 30
ERE=TH | 17 1 S EHR 2996 - 17 ERE=TH | 19| 12 |[SHER 2996 - 29
EARAE=TH | 17 8 |EEEmT 2996 - 18 EARAE=TH | 19 | 13 [SEHER 2996 - 28
ExE=TH | 17 9 S ER 2996 - 26 EXE=TH | 19 | 14 |SFER 2996 - 21
ERE=TH | 17 | 10 |SHER 2996 - 25 EAE=TH | 21 2 |&EERT 2996 - 350
EARAE=TH | 17| 11 |[SEHER 2996 - 24 EAE=TH | 21 4 | SEERT 2996 - 45
ERE=TH | 17 | 12 |5EER 2996 - 23 EXE=TH | 22 2 |SEERT 2996 - 47
ERE=TH | 17 | 13 |SHER 2996 - 22 ERE=TH | 22 3 |EEEmT 2996 - 48
ERE=TH | 17 | 14 |[SHER 2996 - 21 EARAE=TH | 22 4 | SEERT 2996 - 49
EAXAE=TH | 17 | 15 |SEHER 2996 - 20 EARE=TH | 22 5 |SEER 2996 - 50
ERE=TH | 17 | 16 |SEHER 2996 - 19 EAE=TH | 22 6 |SEEHE 2996 - 51
ERE=TH | 18 1 S5 EHR 3359 - 6 ERE=TH | 22 1 S5 EHR 2996 - 52
EARAE=TH | 18 2 | & ERT 2996 - 3 EAE=TH | 22 8 |EEERT 2996 - 53
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAE=TH | 22 9 S EFEHR 2996 - 54 EARAE=TH | 24 | 14 |[SEHER 2996 - 156
ERE=TH | 22 | 10 |52 EHRT 2996 - 55 ENRE=TH | 24 | 15 |5EER 2996 - 155
ERE=TH | 22 | 11 |SHER 2996 - 56 EARAE=TH | 24 | 16 |SEHER 2996 - 154
EAE=TH | 23 1 S EHR 2996 - 57 EAE=TH | 25 1 | =52 2996 - 140
EAE=TH | 23 2 |SEERT 2996 - 58 EAE=TH | 25 1 S5 ERT 2996 - 140
EAXE=TH | 23 3 |EEE 2996 - 59 EAE=TH | 25 2 |EHE 2996 - 140
ERAE=TH | 23 4 | SEERT 2996 - 60 ERAE=TH | 25 2 |&EERT 2996 - 140
EAE=TH | 23 5 & ERT 2996 - 61 EAE=TH | 25 3 |EEERT 2996 - 141
EXE=TH | 23 6 |SEFEHRT 2996 - 62 EX”E=TH | 25 4 |SEERT 2996 - 142
ERE=TH | 23 1 |&S 5 EHR 2996 - 63 EAE=TH | 25 6 |=EEHE 2996 - 144
EAE=TH | 23 8 |EEFEmT 2996 - 64 EARAE=TH | 25 1 S5 EHR 2996 - 145
EXE=TH | 23 9 |SEFEHRT 2996 - 65 ENRE=TH | 25 | 10 |52 EHRT 2996 - 148
ERAE=TH | 23 | 11 |SHER 2996 - 68 ERAE=TH | 25 | 14 |SEHER 2996 - 152
ERAE=TH | 23 | 12 |SEHER 2996 - 67 ERAE=TH | 25 | 15 |SEHER 3006 - 5
EAXAE=TH | 23 | 13 |SEHER 2996 - 66 EAE=TH | 26 1 S5 ERT 2996 - 176
EARAE=TH | 24 1 S5 EHRT 2996 - 161 EHAXE=TH | 26 2 |EHE 2996 - 177
ERAE=TH | 24 2 |&EERT 2996 - 162 ERAE=TH | 26 3 |EEERT 2996 - 178
EARAE=TH | 24 3 |EEERT 2996 - 163 EAE=TH | 26 4 | SEERT 2996 - 179
EXE=TH | 24 4 |SEERT 2996 - 164 EN”E=TH | 26 5 |SEFEHRT 2996 - 180
ERE=TH | 24 5 | &S ERT 2996 - 165 EARE=TH | 26 6 |=EREHE 2996 - 181
EXE=TH | 24 6 |=EFREHR 2996 - 166 EAE=TH | 26 1 =5 EHR 2996 - 175
EXE=TH | 24 1 | S5 EHRT 2996 - 167 ENXE=TH | 26 8 |SEFEHRT 2996 - 174
ERAE=TH | 24 8 |SEFEmT 2996 - 168 EARE=TH | 26 9 |SEEHR 2996 - 173
EARAE=TH | 24 9 = EFEHR 2996 - 169 EARAE=TH | 26 | 10 |SEER 2996 - 172
EAXAE=TH | 24 | 10 |[SEHER 2996 - 160 EAXAE=TH | 26 | 11 |[SEER 2996 - 171
ERE=TH | 24 | 11 |SHER 2996 - 159 EARE=TH | 26 | 12 |SEHER 2996 - 170
ERE=TH | 24 | 12 |SHER 2996 - 158 ERE=TH | 27 1 |S 5 EHR 2996 - 75
EARAE=TH | 24 | 13 |ESEHER 2996 - 157 EARAE=TH | 27 4 | & EERT 2996 - 78
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EARAE=TH | 27 5 &S ERT 2996 - 79 EAE=TH | 31 3 |EEERT 2996 - 114
EXE=TH | 27 6 |SEFEHRT 2996 - 74 EnE=TH | 31 4 |SEERT 2996 - 113
EREZ=TH | 27 1 |5 ER 2996 - 73 EAE=TH | 31 5 |25 R 2996 - 112
ERAE=TH | 27 8 |=EFEmT 2996 - 12 ERAE=TH | 31 6 |=EFREHR 2992 - 94
EARE=TH | 27 9 | SHER 2996 - 1A EAE=TH | 32 1 S5 ERT 2996 - 98
EAQE=TH | 28 3 |EEE 2996 - 86 EAE=TH | 32 2 |EHE 2996 - 99
ERE=TH | 28 4 | SEERT 2996 - 87 ERE=TH | 32 3 |EEFERT 2996 - 100
EAE=TH | 28 5 & ERT 2996 - 80 EAE=TH | 32 4 |SEERT 2996 - 101
EX”E=TH | 28 6 |SEFEHRT 2996 - 81 EX”E=TH | 32 5 |SEFERT 2996 - 97
ERE=TH | 28 1 |&S 5 EHR 2996 - 82 ERE=TH | 32 6 |=EEHE 2996 - 96
EAE=TH | 28 8 |EEFEmT 2996 - 83 EAE=TH | 32 1 S5 EHR 2996 - 95
EX”E=TH | 29 1 |25 EHR 2996 - 91 EX”E=TH | 32 8 |SEFEHRT 2996 - 94
EARE=TH | 29 2 |EE5EE 2996 - 92 EHhEMTH 1 2 |EHE 2996 - 262
EAE=TH | 29 3 |EEERT 2996 - 93 EAEMTH 1 3 |EEERT 2996 - 263
EAE=TH | 29 4 |SEFEHRT 2996 - 88 ENERTH 1 4 |SEEHRT 2996 - 264
EAE=TH | 29 5 |25 R 2996 - 89 ENXEMTH 1 5 |2 R 2996 - 265
EAE=TH | 29 6 |=EFREHE 2996 - 90 EAEMTH 1 6 |=EREHE 2996 - 266
EAE=TH | 30 1 S5 EHR 2996 - 107 ENERTH 2 2 | & ERT 2996 - 268
EX”E=TH | 30 2 |SEPERT 2996 - 108 EAEMTH 2 3 |EEERT 2996 - 269
EAE=TH | 30 3 |EEERT 2996 - 109 EHAEMTH 2 4 | SEERT 2996 - 270
EX”E=TH | 30 5 &S ERT 2996 - 111 ENERTH 2 5 |&EERT 2996 - 271
EX”E=TH | 30 6 |SEFEHRT 2996 - 106 EAEMTH 2 6 |SEFEHRT 2996 - 272
E,RE=TH | 30 1 |5 ER 2996 - 105 EHAEMTH 2 1 |5 ER 2996 - 273
EAE=TH | 30 8 |EEFEmT 2996 - 104 EAEMTH 2 8 |SEFEmT 2996 - 274
EAE=TH | 30 9 |SHER 2996 - 103 ENERTH 2| 10 |SEHERr 2996 - 276
EXE=TH | 30 | 10 |55 ER 2996 - 102 EAEMTH 2| 12 |SEER 2996 - 278
ERE=TH | 31 1 S5 EHR 2996 - 116 EAEMTH 3 1 | S5 ER 2996 - 254
EAE=TH | 31 2 | & ERT 2996 - 115 ENERTH 3 2 | & ERT 2996 - 255
—53— s




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAEMTH 3 3 |EEERT 2996 - 256 EAEMTH 6 2 |BEER 2996 - 221
EAEMTH 3 5 |SEFEHRT 2996 - 258 EAEMTH 6 3 |SEFER 2996 - 222
EHAEMTH 3 6 |SEEHE 2996 - 259 EHhEMTH 6 4 |55 R 2996 - 223
EAEMTH 3 1 |S 5 EHR 2996 - 260 EAEMTH 6 5 |&EERT 2996 - 224
ENERTH 3 8 |SEFEHRT 2996 - 261 ENERTH 6 6 |SEFEHRT 2996 - 225
EHAEMTH 5 1 S ER 2996 - 232 EAEMTH 6 1 = ER 2996 - 231
EAEMTH 5 2 |&EERT 2996 - 233 EAEMTH 6 8 |=EFEmT 2996 - 230
ENERTH 5 3 |EEERT 2996 - 234 ENERTH 6 9 |ZEER 2996 - 229
EAEMTH 5 4 |SEPERT 2996 - 235 EAEMTH 6| 10 |SEER 2996 - 228
EHhEMTH 5 5 | &S ERT 2996 - 236 EHAEMTH 6| 11 |SEER 2996 - 227
ENERTH 5 6 |=EER 2996 - 237 ENERTH 6| 12 |SEER 2996 - 226
EAElMTH 5 1 | S5 ERT 2996 - 238 EAEMTH 1 1 [SEHERr 3004 - 3
EHhEMTH 5 8 |=EFEmT 2996 - 239 EHAEMTH Ji 2 B E 2996 - 198
EAEMTH 5 9 = EHR 2996 - 240 EAEMTH i 3 |EEERT 2996 - 199
ENERTH 5110 |[SHER 2996 - 241 ENERTH i 4 |SEEHRT 2996 - 200
EHAEMTH 51 11 |SHER 2996 - 242 EHAEMTH i 5 |SEERT 2996 - 201
EAEMTH 51 12 |25 ER 2996 - 253 EAEMTH i 6 |=EEH 2996 - 202
ENERTH 51 13 |BEER 2996 - 252 ENERTH i 1 =5 EHR 2996 - 208
EAEMTH 51 14 |[SEHER 2996 - 251 EAEMTH i 8 |SEFEmT 2996 - 207
EHAEMTH 51 15 |SEER 2996 - 250 EAEMTH Ji 9 |SEER 2996 - 206
ENERTH 51 16 |SEER 2996 - 249 ENERTH 71 10 |25 ER 2996 - 205
EAENTH 5117 |[SHER 2996 - 248 EAEMTH 7 11 |SE5ER 2996 - 204
EHAEMTH 51 18 |SErEHRT 2996 - 247 EHAEMTH 7| 12 |5 ER 2996 - 203
EAEMTH 5119 |25 ER 2996 - 246 EAEMTH 8 1 | S5 2R 2996 - 209
ENERTH 51 20 |SEHER 2996 - 245 ENERTH 8 2 |SEER 2996 - 210
EHAEMTH 51 21 |SHER 2996 - 244 EAEMTH 8 3 |EEERT 2996 - 211
EAEMTH 51 22 |2EER 2996 - 243 EAEMTH 8 4 | SEERT 2996 - 212
ENERTH 6 1 S EHR 3006 - 8 ENERTH 8 5 | &S ERT 2996 - 213
a5 —56—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAEMTH 8 6 |=EER 2996 - 214 EgXEmRTH | 10 6 |=EFREHR 2992 - 111
EAEMTH 8 1 | S5 ERT 2996 - 220 EAElTH | 10 1 | S5 EHRT 2992 - 110
EHAEMTH 8 8 |=EFEMT 2996 - 219 EXEmRTH | 10 8 |=EF R 2992 - 107
EAEMTH 8 9 = EHR 2996 - 218 gixEmTH | 10 9 |SEEHR 2992 - 108
ENERTH 8| 10 |SEHER 2996 - 217 EAEMTH | 10 | 10 [SEER 2992 - 109
EHAEMTH 8| 11 |SHER 2996 - 216 EXEMTA | 10 | 13 |5 ER 2996 - 196
EAEMTH 8| 12 |2Er =R 2996 - 215 EAEMTH | 10 | 14 [SEHER 2996 - 194
ENERTH 9 1 |SEEHR 2992 - 3 ergmTH | 11 1 | S5 ER 2992 - 162
EAEMTH 9 2 |SEPERT 2992 - 4 EAEITH | 11 2 |SEERT 2992 - 163
EHhEMTH 9 3 |EEERT 2992 - 5 gixEmTH | 11 3 |EEERT 2992 - 164
ENERTH 9 4 | EEERT 2992 - 6 gixEmTH | 11 4 | SEERT 2992 - 165
EAElMTH 9 5 |SEFEHRT 2992 - i EAEITH | 11 5 |SEFERT 2992 - 166
EHhEMTH 9 6 |SEEHE 2992 - 8 eixEmTH | 11 6 |SEEHE 2992 - 172
EAEMTH 9 1 |= 5 EHR 2992 - 9 eixEmTH | 1 1 S5 EHR 2992 - 171
ENERTH 9 8 |SEFEHRT 2992 - 10 ergmTH | 11 8 |SEFEHRT 2992 - 170
EHAEMTH 9 9 |SEEHR 2992 - 1 erEmTH | 1 9 |SEEHR 2992 - 169
EAEMTH 9| 10 |ZE =R 2996 - 193 EAEMTH | 11| 10 |[SEHER 2992 - 168
ENERTH 9| 11 |SEHER 2996 - 327 EAEMNTH | 11| 11 [SHER 2992 - 167
EAEMTH 9| 12 |BSEHER 2996 - 326 EAEMTH | 12 3 |EEERT 2992 - 133
EHAEMTH 9| 13 |SEER 2996 - 325 ENXEmRTH | 12 4 | SEERT 2992 - 132
ENERTH 9| 14 |BEER 2996 - 324 EMERTH | 12 5 | & ERT 2992 - 131
EAENTH 9| 15 |SEHER 2996 - 323 EAEMTH | 12 6 |SEFEHRT 2992 - 130
EHAEMTH 9| 19 |SEER 2996 - 182 ENEmTH | 12 1 |5 ER 2992 - 129
EXEmRTH | 10 1 |SEEHR 2992 - 118 EXERTH | 12 8 |SEFEmT 2992 - 128
engmTH | 10 2 |SEPERT 2992 - 117 ENngmTH | 12 9 |SHER 2992 - 120
EHAEMRTH | 10 3 |EEERT 2992 - 116 EXAEIMTA | 12 | 10 |SEER 2992 - 121
ExEmRTH | 10 4 | SEERT 2992 - 115 ERAENTH | 12 | 11 [SHER 2992 - 122
engmTH | 10 5 &S ERT 2992 - 112 EAEMNTH | 12 | 12 [SEHER 2992 - 123
s —58—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAEMTH | 12 | 13 |[SEHER 2992 - 124 EghEmTH | 14 9 |SEFEHR 2992 - 41
ENXEMETH | 12 | 14 |52 ER 2992 - 125 ENXEMETH | 14 | 10 |52 ER 2992 - 42
ENXEmMTH | 13 1 S5 ER 2992 - 21 EAEMTH | 14| 11 [SHER 2992 - 43
EiXEmTH | 13 2 |&EERT 2992 - 22 EAEMNTH | 14 | 12 |[SEHER 2992 - 36
enrgmTH | 13 3 |SEFERT 2992 - 23 EAEMNTH | 14 | 13 [SEHER 2992 - 35
EXEmTH | 13 4 SR 2992 - 24 EAENTH | 14 | 14 |[SEHER 2992 - 34
EiXEmRTH | 13 5 | &S ERT 2992 - 25 EAEMTH | 14 | 15 [SEHER 2992 - 33
ergmTH | 13 6 |=EFREHR 2992 - 26 EAEMNTH | 14 | 16 |[SEER 2992 - 32
EAEMTH | 13 1 | S S ERT 2992 - 21 ENREmTH | 14 | 17 |5 ER 2992 - 31
ENXEmRTH | 13 8 |=ErEmT 2992 - 28 EAEMTH | 14 | 18 |SEHER 2992 - 30
ENXERTH | 13 9 |=EFEHR 2992 - 29 EAEMNTH | 14 | 19 [SEHER 2996 - 363
EREMETH | 13| 10 |52 ERT 2992 - 20 ENXEMETH | 14 | 20 |52 ERT 2996 - 362
EAEMTH | 13 | 11 |[SHER 2992 - 19 EXEMTAH | 14| 21 |SEHER 2996 - 361
EAEMTH | 13 | 12 |[SHER 2992 - 18 EAENTH | 14 | 22 |[SEHER 2996 - 348
EAEMTH | 13 | 13 [SEHER 2992 - 17 eNngmTH | 15 1 S5 ERT 2996 - 369
EAEMTH | 13 | 14 [SEHER 2992 - 16 ENEmTH | 15 2 |EHE 2996 - 370
EREMTH | 13 | 15 [SHER 2992 - 15 ENXEmRTH | 15 3 |EEERT 2996 - 371
EAEMTH | 13 | 16 |[SEER 2992 - 14 eNgmTH | 15 6 |=EFREHR 2992 - 46
EXEMTAH | 13| 17 |SHER 2992 - 13 EMXEmTH | 15 1 | S5 ERT 2992 - 47
EREMTH | 13 | 18 |SEHER 2992 - 12 ENEmRTH | 15 8 |=EFEmT 2992 - 45
EXEmRTH | 14 1 |SEER 2996 - 364 EihE@RTH | 15 9 |=EFREHR 2992 - 44
EAEMTH | 14 2 |SEPERT 2996 - 365 ENREmETH | 15 | 10 |52 ERT 3001 - 6
EiXEmRTH | 14 3 |EEERT 2996 - 366 EAEMTH | 156 | 11 |[SEHER 3001 - i
EXEmRTH | 14 4 | SEERT 2996 - 367 EAEMTH | 15 | 12 [SEHER 2996 - 368
engmTH | 14 5 |SEFEHRT 2992 - 37 EAEMTH | 156 | 13 [SEHER 2996 - 346
EXEmTH | 14 6 |=EEHE 2992 - 38 ENEMTH | 16 2 |EHE 2992 - 73
EXEmRTH | 14 1 S EHR 2992 - 39 ENERTH | 16 5 | &S ERT 2992 - 12
engmTH | 14 8 |EEERT 2992 - 40 eNgmTH | 16 6 |=EFREHR 2992 - Al
50 —60—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENERTH | 16 1 S5 EHR 2992 - 70 ENERTH | 18 3 |EEERT 2992 - 101
EAEMTH | 16 8 |SEFEHRT 2992 - 69 EAEMTH | 18 4 |SEERT 2992 - 100
ENXEMTH | 16 9 |SEEHR 2992 - 68 ENXEmMTH | 18 5 |25 R 2992 - 99
EAEMTH | 16 | 10 |[SEER 2992 - 67 EXEmRTH | 19 1 | =52 2992 - 327
EAEMTH | 16 | 11 [SEER 2992 - 61 ergmTH | 19 2 |SEERT 2992 - 60
EAEMNTH | 16 | 12 |[SEHER 2992 - 62 EXEmTH | 19 3 |EHFE 2992 - 59
EAEMTH | 16 | 13 [SEHER 2992 - 63 EeixEmTH | 19 4 | SEERT 2992 - 58
EAEMNTH | 16 | 14 |[SEER 2992 - 64 ergmTH | 19 5 | & ERT 2992 - 57
EREMETH | 16 | 15 |52 ERT 2992 - 65 EAEMTH | 19 6 |SEFEHRT 2992 - 138
EAEMTH | 16 | 16 |[SEER 2992 - 66 E4XEmRTH | 20 1 |5 ER 2992 - 308
EinEmRTH | 17 1 S EHR 2992 - 87 EXERTH | 20 2 |&EERT 2992 - 307
EAEMTAH | 17 2 |SEERT 2992 - 86 EAEMRTH | 20 3 |SEFER 2992 - 306
ErEmTH | 17 3 |=EFEm 2992 - 85 EXEmRTH | 20 4 |55 R 2992 - 305
ErxEmTH | 17 4 | SEERT 2992 - 84 EXERTH | 20 5 | &S ERT 2992 - 304
enrgmTH | 17 5 |SEFEHRT 2992 - 83 eNEmTH | 20 6 |SEFER 2992 - 303
ereEmTH | 17 6 |SEEHE 2992 - 82 EXEmRTH | 20 1 |5 ER 2992 - 302
EixEmTH | 17 1 S EHR 2992 - 81 EXERTH | 20 8 |=EFEmT 2992 - 301
engmTH | 17 8 |EEEmT 2992 - 74 eNEmTH | 20 9 |SEFREHR 2992 - 300
ereEmTH | 17 9 S ER 2992 - 75 erEmTH | 21 1 S ER 2992 - 158
EREMTH | 17 | 10 |[SHER 2992 - 76 EixEmTH | 21 4 | SEERT 2992 - 155
EAEMTH | 17 | 11 |SEHER 2992 - 71 gixEmRTH | 21 5 | & ERT 2992 - 154
EREmTH | 17 | 12 |52 ER 2992 - 18 EAEITH | 21 6 |SEFEHRT 2992 - 153
EREMTH | 17 | 13 |[SHER 2992 - 79 eixEmTH | 21 1 |5 ER 2992 - 152
EAEMTH | 17 | 14 [SHER 2992 - 80 EgixEmTH | 21 8 |SEFEmT 2992 - 151
EAEMTH | 17 | 15 [SEHER 2992 - 88 ergmTH | 21 9 |SHER 2992 - 142
EREMTH | 17 | 16 |SEER 2992 - 89 EAEMTH | 21 | 10 |[SEHER 2992 - 143
ENE@RTH | 18 1 S5 EHR 2992 - 103 EARAENTH | 21 | 11 |[SHER 2992 - 144
ergmTH | 18 2 | & ERT 2992 - 102 EAEMNTH | 21 | 12 |[SEHER 2992 - 145
el —62—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAEMTH | 21 | 13 |[SEHER 2992 - 146 EXERTH | 24 2 S EHR 3080 - 203
EREMETH | 21 | 14 |52 ER 2992 - 147 EAENTH | 24 4 |SEERT 3080 - 204
EAEMTH | 21 | 15 |[SEHER 2992 - 148 EXEmRTH | 24 5 |25 R 3080 - 206
EAEMTH | 21 | 16 |SEER 2992 - 149 EXEmRTH | 24 6 |=EFREHR 3080 - 207
EAEMTAH | 21 | 17 |SEHER 2992 - 150 eNgmTH | 24 1 | S ER 3080 - 209
EAEMTH | 22 1 S ER 2992 - 187 EXEmRTH | 24 8 |SEEMT 3080 - 199
ENXERTH | 22 2 |&EERT 2992 - 188 EXEmRTH | 24 9 |SEEHR 3080 - 200
ENEmTH | 22 3 |EEERT 2992 - 189 EAEMNTH | 24 | 10 |[SEER 3080 - 201
EAEMTH | 22 4 |SEFEHRT 2992 - 190 EAREMETH | 24 | 11 |5EER 3080 - 210
ENXEMRTH | 22 5 | &S ERT 2992 - 191 EXERTH | 25 1 |5 ER 2992 - 207
EMERTH | 22 6 |=EFREHR 2992 - 192 ENXERTH | 25 2 |&EERT 2992 - 208
EAEMTH | 22 1 | S5 ERT 2992 - 193 EAEMTH | 25 3 |SEFER 2992 - 209
ENXEmRTH | 22 8 |2 EF M 2992 - 199 ENXEmRTH | 25 4 |55 R 2992 - 210
EXERTH | 22 9 = EHR 2992 - 198 EXERTH | 25 1 S5 EHR 2992 - 206
EAEMTH | 22 | 10 |[SEER 2992 - 197 ENgmTH | 25 8 |SEFEHRT 2992 - 205
EXAEMTAH | 22 | 11 |SEFER 2992 - 196 ENXEMTH | 25 9 |SEER 2992 - 204
ERAENTH | 22 | 12 |[SHER 2992 - 195 EAEMTH | 25 | 10 |[SEHER 2992 - 203
EAEMNTH | 22 | 13 [SEHER 2992 - 194 EAEMTH | 25 | 11 [SEHEER 2992 - 202
EAEMTH | 23 1 B ER 2992 - 175 EXEMTH | 25 | 12 |55 ER 2992 - 201
ENXEMRTH | 23 2 |&EERT 2992 - 176 EAEMTH | 25 | 13 |SEHER 2992 - 200
ENERTH | 23 3 |EEERT 2992 - 177 ENERTH | 26 4 | SEERT 2992 - 247
EAEMTH | 23 4 |SEEHRT 2992 - 178 EAEMTH | 26 5 |SEFEHRT 2992 - 248
EXEmMTH | 23 5 |SEERT 2992 - 179 ENXEmMTH | 28 1 S5 ER 2992 - 228
ENXE@RTH | 23 6 |=EFREHR 2992 - 184 ENXERTH | 28 2 |&EERT 2992 - 229
ergmTH | 23 1 | SHER 2992 - 183 ergmTH | 28 3 |SEFER 2992 - 230
EAEMTH | 23 8 |=ErEmT 2992 - 182 ENXEMTH | 28 4 | SEERT 2992 - 231
ENXE@RTH | 23 9 S EHR 2992 - 181 ENXEmRTH | 28 5 | &S ERT 2992 - 232
EAEMTH | 23 | 10 |[SEER 2992 - 180 engmTH | 28 6 |=EFREHR 2992 - 233
63— o1




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENXERTH | 28 1 S5 EHR 2992 - 234 ENXERTH | 31 2 S EHR 2992 - 465
EAEMTH | 28 8 |SEFEHRT 2992 - 235 EAEMTH | 31 3 |SEER 2992 - 466
EXEMTH | 28 9 |SEEHR 2992 - 227 ENXEMTH | 31 4 |55 R 2992 - 467
EAEMTH | 28 | 10 |[SEER 2992 - 226 ENXERTH | 31 5 | &S ERT 2992 - 468
EAEMTH | 28 | 11 |SEER 2992 - 225 ergmTH | 31 6 |SEFER 2992 - 463
EXEMTAH | 28 | 12 | ER 2992 - 224 erEmTH | 31 1 = ER 2992 - 462
EAEMTH | 28 | 13 |[SEHER 2992 - 223 gixEmTH | 31 8 |SEFEmT 2992 - 461
EAEMNTH | 28 | 14 [SEHER 2992 - 222 ENEmTH | 31 9 |SEFEHR 2992 - 460
EREMETH | 28 | 15 |SEERT 2992 - 221 E2MREmETH | 31 | 10 |52 ERT 2992 - 459
EAEMTH | 28 | 16 |SEER 2992 - 220 EXERTH | 32 1 |5 ER 2992 - 474
EAEMTH | 28 | 17 |[SEHER 2992 - 219 ENXERTH | 32 2 |&EERT 2992 - 475
EREMTH | 28 | 18 |EEEHRT 2992 - 218 EAEMTH | 32 3 |SEFER 2992 - 476
ENXEMRTH | 29 1 S5 ER 3080 - 211 ENXEmRTH | 32 4 |55 R 2992 - 477
ENXERTH | 29 2 |&EERT 3080 - 212 EXERTH | 32 5 | &S ERT 2992 - 478
ErgmTH | 29 3 |SEFER 3080 - 213 ENgmTH | 32 6 |SEFER 2992 - 473
EAEMTH | 29 4 |\ SEERT 3080 - 214 EXEmMTH | 32 1 S ER 2992 - 472
EXERTH | 29 5 | &S ERT 3080 - 215 ENXERTH | 32 8 |=EFEmT 2992 - 471
ENEmTH | 29 6 |=EFREHR 3080 - 216 ENEmTH | 32 9 |SEFREHR 2992 - 470
EAEMTH | 29 1 | S5 ERT 3080 - 218 EREMETH | 32 | 10 |5EERT 2992 - 469
ENXEMRTH | 29 8 |=EEmT 3080 - 219 ENXEmRTH | 33 1 |5 ER 2992 - 249
ENXERTH | 29 9 |=EFREHR 3080 - 220 EMERTH | 33 2 | & ERT 2992 - 252
EREMETH | 29 | 10 |52 ERT 3080 - 221 EAEMTH | 33 3 |SEFERT 2992 - 254
EAEMTH | 29 | 11 |[SHER 3080 - 222 ENXEmMTH | 33 4 |\ SEERT 2992 - 255
EAEMNTH | 29 | 12 [SEHER 3080 - 223 ENXERTH | 33 5 | &S ERT 2992 - 256
engmTH | 30 1 |[SHFER 2992 - 456 ergmTH | 33 6 |SEFER 2992 - 259
EAEMTH | 30 3 |EEERT 2992 - 457 ENXEMTH | 33 1 = ER 2992 - 258
EXERTH | 30 4 | SEERT 2992 - 458 ENXERTH | 33 8 |=ErEmT 2992 - 257
engmTH | 31 1 S5 EHR 2992 - 464 enrgmTH | 33 9 |=EFEHR 2992 - 253
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAEMTH | 33 | 10 |[SEER 2992 - 251 EgnEmRTH | 37 4 | SEERT 2992 - 267
ENREMETH | 33 | 11 |52 ER 2992 - 250 EAEMTH | 38 1 |[SEHERr 2992 - 352
EXEMRTH | 35 1 S5 ER 2992 - 290 EXEMTH | 38 2 |EHE 2992 - 351
ENXERTH | 35 2 |&EERT 2992 - 291 ENXE@RTH | 38 3 |EEERT 2992 - 350
engmTH | 35 3 |SEFERT 2992 - 292 eNgmTH | 38 4 |SEEHRT 2992 - 349
EHAEMTH | 35 4 | SEERT 2992 - 293 EXEmMTH | 38 5 |SEERT 2992 - 348
ENXERTH | 3 5 | &S ERT 2992 - 294 ENXEmRTH | 38 6 |=EREHE 2992 - 347
enaEmTH | 35 6 |=EFREHR 2992 - 295 ENEmTH | 39 1 | S5 ER 2992 - 360
EAEMTH | 35 1 | S S ERT 2992 - 296 EAEMTH | 39 2 |SEERT 2992 - 361
ENXEmRTH | 3 8 |=ErEmT 2992 - 289 EXERTH | 39 3 |EEERT 2992 - 362
ENERTH | 35 9 |=EFEHR 2992 - 288 EXERTH | 39 4 | SEERT 2992 - 363
EREMETH | 35 | 10 |2 ERT 2992 - 287 EAEMTH | 39 5 |SEFERT 2992 - 364
EAEMTH | 35 | 11 |SEHER 2992 - 286 ENXEmRTH | 39 6 |SEEHE 2992 - 365
EAEMTH | 35 | 12 |[SEHER 2992 - 285 EXERTH | 39 1 S5 EHR 2992 - 366
EAEMTH | 35 | 13 [SEER 2992 - 284 enrgmTH | 39 8 |SEFEHRT 2992 - 367
EXAEMTH | 35 | 14 |55 ER 2992 - 283 EXEmMTH | 39 9 |SEER 2992 - 353
ENE@RTH | 36 1 SRR 2992 - 276 EAEMTH | 39 | 10 |[SEHER 2992 - 354
ENEmTH | 36 2 | & ERT 2992 - 277 EAEMTH | 39 | 11 [SEHER 2992 - 355
EAEMTH | 36 3 |SEPERT 2992 - 278 EXEMTAH | 39 | 12 |5 ER 2992 - 356
ENEMTH | 36 4 | SEERT 2992 - 279 EAEMTH | 39 | 13 |[SEHER 2992 - 357
ENEMRTH | 36 5 &S ERT 2992 - 280 EAEMNTH | 39 | 14 [SEER 2992 - 358
EAEMTH | 36 8 |SEFEHRT 2992 - 274 ENREMETH | 39 | 15 |5EERT 2992 - 359
ENXEMTH | 36 9 |SEEHR 2992 - 273 EXEmRTH | 40 1 S5 ER 3052 - 23
EAEMTH | 36 | 10 |[SEER 2992 - 272 EXERTH | 40 3 |EEERT 3052 - 25
EAEMTH | 36 | 11 [SEER 2992 - 271 eNgmTH | 40 4 |SEEHRT 3052 - 26
EXEMTH | 36 | 12 |SEER 2992 - 270 EXEmRTH | 40 5 |SEERT 2992 - 372
ENXEmTH | 37 1 S5 EHR 2992 - 265 EXERTH | 40 1 S5 EHR 2992 - 374
enrgmTH | 37 3 |EEERT 2992 - 266 engmTH | 40 8 |EEERT 2992 - 375
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EXERTH | 40 9 S EFEHR 2992 - 368 ENXERTH | 43 5 | &S ERT 2992 - 406
ENXEMETH | 40 | 10 |27 ERT 2992 - 369 EAEMTH | 43 6 |SEFEHRT 2992 - 407
EAEMTH | 40 | 11 [SEHER 2992 - 370 EXEmRTH | 43 1 |5 ER 2992 - 396
EAEMTH | 40 | 12 [SEHER 2992 - 371 ENXERTH | 43 8 |SEFEmT 2992 - 397
ergmTH | 41 1 [ SHFER 2992 - 386 eNngmTH | 43 9 |SHER 2992 - 398
EAEMTH | 41 2 | & ERT 2992 - 387 EXEMTAH | 43| 10 |5 ER 2992 - 399
e2ixEmTH | 4 3 |EEEmT 2992 - 388 EAEMNTAH | 43 | 11 [SEHER 2992 - 400
EngmTH | 41 4 | SEERT 2992 - 389 EAEMNTAH | 43 | 12 |[SEHER 2992 - 401
EAEITH | 41 5 |SEPEHRT 2992 - 390 EAEMTH | 4 1 [SEERr 2992 - 411
eixEmTH | 4 6 |=EEHE 2992 - 391 EXEmRTH | 4 2 |&EERT 2992 - 410
ExEmRTH | 41 1 =5 EHR 2992 - 392 EXERTH | 4 3 |EEERT 2992 - 409
EAEITH | 41 8 |SEFEHRT 2992 - 393 EAQENTH | 4 4 |SEERT 2992 - 408
erEmTH | 4 9 |SEEHE 2992 - 394 EXEmRTH | 4 5 |25 R 2992 - 412
EAEMTH | 41 | 10 |[SEHER 2992 - 395 EXEmRTH | 4 6 |=EFREHR 2992 - M3
EAEMTH | 41 | 11 [SHER 2992 - 376 ENEmTH | 4 1 | SHER 2992 - 414
EXAETAH | 41| 12 |SHER 2992 - 377 EXERTH | 4 8 |SEEmT 2992 - 415
EAEMNTH | 41 | 13 |SHER 2992 - 378 ENXERTH | 45 1 | =52 2992 - 428
EAEMNTH | 41 | 14 [SEHER 2992 - 379 EeNgmTH | 45 2 | & ERT 2992 - 427
EXAEMTH | 41| 15 |SEER 2992 - 380 ENXEMTH | 45 3 |SEERT 2992 - 424
EREMTH | 41 | 16 |[SEHER 2992 - 381 ENXERTH | 45 4 | SEERT 2992 - 422
EAEMTH | 41 | 17 |[SEHER 2992 - 382 ENXERTH | 45 5 | & ERT 2992 - 420
EREMETH | 41 | 18 |EEERT 2992 - 383 EAEMTH | 45 6 |SEFEHRT 2992 - 418
EREMTH | 41 | 19 |[SEHER 2992 - 384 ENEMTH | 45 1 |5 ER 2992 - 416
EAEMTH | 41 | 20 |[SEHER 2992 - 385 EAERTH 1 2 |&EERT 2996 - 332
ergmTH | 43 1 |[SHFER 2992 - 402 ENERTH 1 3 |SEFERT 2996 - 331
EXEMTH | 43 2 B E 2992 - 403 EHAXERTH 1 5 |25 R 2996 - 329
ENXERTH | 43 3 |EEERT 2992 - 404 EAERTH 1 6 |=EFREHR 2996 - 280
ergmTH | 43 4 | EEERT 2992 - 405 ENERTH 1 1 |= 5 EHR 2996 - 282
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAERTH 1 8 |EEEmT 2996 - 283 EAERTH 5 4 | SEERT 3080 - 67
EMXERTH 1 9 |SEFEHRT 2996 - 284 EANERTH 5 5 |SEFEHR 3080 - 12
EARERTH 2 1 S5 EHR 2996 - 340 EARERTH 5 1 | ER 3080 - 69
EAERTH 2 2 |&EERT 2996 - 285 EAERTH 5 8 |SEEmT 3080 - 69
ENERTH 2 3 |SEFERT 2996 - 286 ENERTH 5 9 |SEFEHRT 3080 - 68
EAXERTH 2 4 SR 2996 - 334 EAERTH 6 1 |EHER 3080 - 14
EAERTH 2 5 | &S ERT 2996 - 336 EAERTH 6 2 |2EER 3080 - 15
ENERTH 2 6 |SEER 2996 - 337 ENERTH 6 3 |EEERT 3080 - 16
EHAERTH 2 1 |SEFERT 2996 - 338 EAERTH 6 4 |SEERT 3080 - 17
ERERTH 2| 11 | SEER 2996 - 287 EARERTH 6 5 | &S ERT 3080 - 18
EAERTH 3 1 S EHR 3080 - 44 EAERTH 6 6 |=EER 3080 - 19
EMXERTH 3 2 |SEERT 3080 - 45 EANERTH 6 1 | S5 ERT 3080 - 20
EhERTH 3 3 |EEFEm 3080 - 46 EARERTH 6 8 |=EF M 3080 - 21
EAERTH 3 4 | SEERT 3080 - 47 EAERTH 6 9 |=EER 3080 - 22
ENERTH 3 5 |SEFEHRT 3080 - 48 ENERTH 6| 10 |SEER 3080 - 23
EHAXERTH 3 6 |SEEHE 3080 - 49 EHAERTH 6| 11 |SEER 3080 - 24
EAERTH 3 1 |S 5 EHR 3080 - 50 EAERTH 6| 12 |2EER 3080 - 25
ENERTH 3 9 |=EFREHR 3080 - 52 ENERTH 6| 13 |SEER 3080 - 26
EAERTH 3| 12 |BEHERr 3080 - 62 EHNERTH 6 | 14 |SEER 3080 - 21
ERERTH 3| 13 |EEER 3080 - 61 EAERTH 6| 15 |SEEHR 3080 - 28
EAERTH 3| 14 |BEER 3080 - 60 EAERTH 6| 16 |ZEERT 3080 - 43
EAXERTH 3| 15 |[SHERr 3080 - 59 EAXERTH 6| 17 |SEER 3080 - 42
EARERTH 3| 17 |SEHER 3080 - 57 EhERTH 6| 18 |=ErERT 3080 - 41
EAERTH 3| 18 |=ErEHT 3080 - 56 EAERTH 6| 19 |ZEER 3080 - 40
ENERTH 3| 19 [SHERr 3080 - 55 ENERTH 6 | 20 |SEER 3080 - 39
EAhERTH 3| 20 |SEPERT 3080 - 54 EAERTH 6| 21 |SEER 3080 - 38
EAERTH 5 1 S5 EHR 3080 - 64 EAERTH 6| 22 |=EPERT 3080 - 37
ENERTH 5 3 |EEERT 3080 - 66 ENERTH 6| 23 |EEER 3080 - 36
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAERTH 6| 24 |BEER 3080 - 35 EAERTH 9 6 |=EER 3080 - 87
EMXERTH 6 | 25 |SEER 3080 - 34 EANERTH 9 8 |SEFEHRT 3080 - 85
EARERTH 6 | 26 |SEPERT 3080 - 33 EARERTH 9 9 |SEEHR 3080 - 84
EAERTH 6| 27 |=EPERT 3080 - 32 ERAERTH | 10 3 |EEERT 3080 - 91
ENERTH 6 | 28 |SEER 3080 - 31 EgNXERTH | 10 4 |SEEHRT 3080 - 92
EAXERTH 6 | 30 |SEERT 3080 - 29 EARERTH | 10 6 |SEEHR 3080 - 93
EAERTH i 1 S5 ER 3080 - 2 EAERTH | 10 8 |=EFEmT 3080 - 94
ENERTH Ji 2 | & ERT 3080 - 3 EARAERTH | 10 | 10 [SEER 3080 - 95
EHAERTH i 3 |SEFERT 3080 - 4 ERERTH | 10 | 11 |5EER 3080 - 96
ERERTH i 4 | SEERT 3080 - 5 ERERTH | 10 | 14 [SEHER 3080 - 98
EAERTH Ji 5 &S ERT 3080 - 6 EAERTH | 11 1 | S5 =R 2386 - 143
EMXERTH i 6 |SEFEHRT 3080 - i EnERTH | 1 2 |SEER 2386 - 144
EhERTH Ji 1 |5 ER 3080 - 8 ERERTH | 11 3 |EEEm 2386 - 145
EAERTH Ji 8 |EEEmT 3080 - 9 EARAERTH | 12 2 |&EERT 3080 - 108
ENERTH Ji 9 |SHER 3080 - 10 ENRERTH | 12 3 |SEER 3080 - 109
EHAXERTH 71 10 [SEER 3080 - " EARERTH | 12 4 |55 R 3080 - 110
EAERTH 7| 11 [SEER 3080 - 12 ERERTH | 12 5 | &S ERT 3080 - 111
ENERTH 8 1 |SEEHR 3080 - 73 ENERTH | 12 6 |=EFREHR 3080 - 112
EAERTH 8 2 |SEPERT 3080 - 74 EXERTH | 12 1 S ER 3080 - 113
ERERTH 8 3 |EEERT 3080 - 75 ERERTH | 12 8 |=ErEmT 3080 - 114
EAERTH 8 4 | SEERT 3080 - 76 EARAERTH | 12 9 |SEFEHR 3080 - 106
EAXERTH 8 5 |SEFEHR 3080 - 17 ERERTH | 12 | 10 |52 ER 3080 - 105
EARERTH 8 6 |SEEHR 3080 - 78 ERERTH | 12 | 11 |[SHER 3080 - 104
EAERTH 8 1 |S 5 EHR 3080 - 79 ERAERTH | 12 | 12 |[SHER 3080 - 103
ENERTH 9 2 |SEERT 3080 - 81 EAXAERTH | 12 | 13 [SEHER 3080 - 102
EAhERTH 9 3 |EE R 3080 - 82 ERERTH | 12 | 14 |SEHER 3080 - 101
EAERTH 9 4 | SEERT 3080 - 83 ERERTH | 12 | 15 |[SHER 3080 - 100
ENERTH 9 5 &S ERT 3080 - 88 EARERTH | 12 | 16 |[SEER 3080 - 99
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENXERTH | 13 1 S EHR 3080 - 134 ENnERTH | 17 2 S EHR 2386 - 161
EXERTH | 14 1 |25 EHR 3080 - 115 EnERTH | 17 3 |SEER 2386 — 162
EAXERTH | 14 3 |EE R 3080 - 118 ERERTH | 17 4 |55 R 2386 - 163
ERAERTH | 14 4 | SEERT 3080 - 119 ERAERTH | 17 5 | &S ERT 2386 - 164
ENERTH | 14 5 |SEFEHRT 3080 - 120 EM”ERTH | 17 6 |SEFER 2386 - 156
EAXERTH | 14 6 |SEEHE 3080 - 126 ERERTH | 17 1 |S 5 ER 2386 - 157
EARAERTH | 14 1 S5 EHR 3080 - 125 ERERTH | 17 8 |SEFEmT 2386 - 158
EAERTH | 14 8 |EEEmT 3080 - 124 EARAERTH | 17 9 |BEER 2386 - 159
EXERTH | 14 9 |SEFEHRT 3080 - 123 ENXERTH | 18 1 [SEERr 3080 - 192
ERERTH | 14| 10 |[SHER 3080 - 122 ERERTH | 18 2 |&EERT 2386 - 105
ERAERTH | 14| 11 [SHER 3080 - 121 EAERTH | 18 3 |EEERT 2386 - 104
ENRERTH | 14| 12 |5EERT 3080 - 116 EXERTH | 18 4 |SEERT 2386 - 102
ERERTH | 156 1 S5 ER 2386 - 134 EARERTH | 18 5 |25 R 2386 - 103
EAERTH | 156 2 |&EERT 2386 - 135 EAERTH | 18 6 |=EFREHR 3080 - 191
ENRERTH | 15 3 |SEFER 2386 - 136 ENERTH | 18 1 | SHER 3080 - 190
ERERTH | 156 4 |55 EE 2386 - 137 EAERTH | 19 1 |&HER 3080 - 184
ERERTH | 156 5 | &S ERT 2386 - 138 ERERTH | 19 2 |&EERT 3080 - 185
EARAERTH | 156 6 |SEER 2386 - 139 EAERTH | 19 3 |EEERT 3080 - 186
EN”ERTH | 15 1 | S5 ERT 2386 - 140 EX”ERTH | 19 4 |SEERT 3080 - 187
ERERTH | 156 8 |=EEmT 2386 - 141 ERERTH | 19 5 |&EERT 3080 - 188
EARAERTH | 156 9 |=EFREHR 2386 - 142 EAERTH | 19 6 |=EFREHR 3080 - 189
ENERTH | 16 1 |25 EHR 2386 — 154 EX”ERTH | 19 1 | S5 ERT 3080 - 183
ERERTH | 16 2 |SEERT 2386 - 155 ERERTH | 19 8 |SEEmT 3080 - 182
ERERTH | 16 3 |EEERT 2386 - 150 EAERTH | 19 9 |SEEHR 3080 - 181
ENERTH | 16 4 |SEEHRT 2386 - 151 EAXAERETH | 19 | 10 |[SEER 3080 - 180
EARERTH | 16 5 |25 ER 2386 - 152 ERAERTH | 19 | 11 |[SEHER 3080 - 179
ERERTH | 16 6 |=EFREHE 2386 - 153 ERERTH | 19| 12 |[SHER 3080 - 178
ERERTH | 17 1 |[SEERT 2386 - 160 EAERTH | 20 1 | 2EER 3080 - 171
g5 —76—




T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENXERTH | 20 3 |EEERT 3080 - 177 ENERTH | 23 3 |EEERT 2386 - 228
EX”ERTH | 20 5 |SEFEHRT 2386 - 132 EXERTH | 23 4 |SEERT 2386 - 227
ERERTH | 21 1 S5 ER 2386 - 121 EARERTH | 23 5 |25 R 2386 - 226
EARAERTH | 21 2 |&EERT 2386 - 120 EAERTH | 23 6 |=EFREHR 2386 - 225
ENXERTH | 21 3 |SEFERT 2386 - 119 ENXERTH | 23 1 | S ER 2386 - 224
EAERTH | 21 4 SR 2386 - 118 EHNQERTH | 24 1 |&HER 2386 - 170
ERAERTH | 21 5 | &S ERT 2386 - 117 EARAERTH | 24 2 |&EERT 2386 - 171
EARERTH | 21 6 |=EER 2386 - 116 EAERTH | 24 3 |EEERT 2386 - 172
EXERTH | 21 1 | S S ERT 2386 - 115 EXERTH | 24 4 |SEERT 2386 - 173
ERERTH | 21 8 |=ErEmT 2386 - 114 EARERTH | 24 5 | &S ERT 2386 - 174
EAERTH | 21 9 |=EFEHR 2386 - 113 EAERTH | 24 6 |=EFREHR 2386 - 175
ERERTH | 21 | 10 |52 ER 2386 — 106 EXERTH | 24 1 | S5 ERT 2386 — 165
ERERTH | 21 | 11 |[SHER 2386 - 107 EARAERTH | 24 8 |=EF R 2386 - 166
ERERTH | 21 | 12 |[SHER 2386 - 108 EAERTH | 24 9 = EHR 2386 - 167
EAXAERTH | 21 | 13 |SEHER 2386 - 109 EAERTH | 24 | 10 |[SEER 2386 - 168
ERAERTH | 21 | 14 |[SEHER 2386 - 110 ERERTH | 24 | 11 |SHER 2386 - 169
ERERTH | 21 | 15 |[SHER 2386 - 111 ERERTH | 25 1 | =52 2386 - 176
EARAERTH | 21 | 16 |[SEER 3080 - 195 ENERTH | 25 2 | & ERT 2386 - 177
EXERTH | 21 | 17 |SHER 3080 - 194 EX”ERTH | 25 3 |SEERT 2386 - 178
ERERTH | 21 | 18 |SEHER 3080 - 193 ERERTH | 25 4 | SEERT 2386 - 179
EARAERTH | 22 4 | EEERT 2386 - 127 EAERTH | 25 5 | & ERT 2386 - 180
EXERTH | 22 5 |SEFEHRT 2386 — 126 EXERTH | 25 6 |SEFEHRT 2386 - 181
ERERTH | 22 6 |SEEHE 2386 - 125 ERERTH | 25 1 |5 ER 2386 - 182
ERAERTH | 22 1 |S 5 EHR 2386 - 124 EAERTH | 25 8 |SEFEmT 2386 - 183
ENERTH | 22 8 |SEFEHRT 2386 - 123 ENERTH | 25 9 |SHER 2386 - 184
ERERTH | 22 9 |SEEHR 2386 - 122 ERERTH | 25 | 10 |SEHER 2386 - 185
ERERTH | 23 1 S5 EHR 2386 - 230 ERERTH | 25 | 11 |[SHER 2386 - 186
ENRERTH | 23 2 | & ERT 2386 - 229 EARAERTH | 25 | 12 |SEHER 2386 - 187
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ERAERTH | 25 | 13 |SEHER 2386 - 188 ENRERTH | 29 4 | SEERT 2386 - 318
ENRERTH | 25 | 14 |5EERT 2386 — 189 EXERTH | 29 5 |SEFEHRT 2386 - 319
EARERTH | 26 1 S5 ER 2386 - 223 EAXERTH | 29 6 |SEEHE 2386 - 320
EARERTH | 26 2 |&EERT 2386 - 222 EAERTH | 29 1 |S 5 EHR 2386 - 321
ENERTH | 26 3 |SEFERT 2386 - 221 ENXERTH | 29 8 |SEFEHRT 2386 - 328
EARERTH | 26 4 SR 2386 - 220 EAERTH | 29 9 |SEEHR 2386 - 327
ERERTH | 26 5 | &S ERT 2386 - 219 ERERTH | 29 | 10 |[SEHER 2386 - 326
ENERTH | 27 1 |S 5 ER 2386 - 198 EARAERTH | 29 | 11 [SEER 2386 - 325
EXERTH | 27 2 |SEPERT 2386 - 199 ERERTH | 29 | 12 |5EEHRT 2386 - 324
ERERTH | 27 3 |EEERT 2386 - 200 ERERTH | 29 | 13 |[SEHER 2386 - 323
ERERTH | 27 4 | SEERT 2386 - 201 EAERTH | 29 | 14 [SEHER 2386 - 322
EXERTH | 27 5 |SEFEHRT 2386 - 202 EX”ERTH | 30 3 |SEFER 2386 - 333
ERERTH | 27 6 |SEEHE 2386 - 203 EAERTH | 30 4 |55 R 2386 - 332
ERERTH | 27 1 S5 EHR 2386 - 204 EAERTH | 30 5 | &S ERT 2386 - 331
ENXERTH | 27 8 |SEFEHRT 2386 - 205 ENXERTH | 30 6 |SEFER 2386 - 330
ERERTH | 27 9 |SEEHR 2386 - 206 EAERTH | 30 1 |5 ER 2386 - 329
ERERTH | 27 | 10 |SHER 2386 - 207 EAERTH | 30 9 |SEEHR 2386 - 345
EAXAERTH | 27 | 11 |SHER 2386 - 208 EAERTH | 30 | 10 |[SEER 2386 - 343
EXERTH | 27 | 12 |SHER 2386 - 209 EXERTH | 30 | 11 |SEER 2386 - 340
ERERTH | 28 1 S5 ER 2386 - 313 EARERTH | 31 1 |5 ER 2386 - 367
EARAERTH | 28 2 |&EERT 2386 - 311 EARERTH | 31 2 | & ERT 2386 - 366
EXERTH | 28 3 |SEFERT 2386 - 309 EN”ERTH | 31 3 |SEFERT 2386 - 362
ERERTH | 28 4 | SEERT 2386 - 307 EARERTH | 31 4 |\ SEERT 2386 - 361
ERAERTH | 28 5 | &S ERT 2386 - 305 EAERTH | 31 5 | &S ERT 2386 - 357
ENERTH | 28 6 |SEFER 2386 - 304 ENXERTH | 31 6 |SEFER 2386 - 355
EAXERTH | 29 1 S5 ER 2386 - 315 EAERTH | 31 1 |S 5 ER 2386 - 356
ERAERTH | 29 2 |&EERT 2386 - 316 ERERTH | 31 8 |=ErEmT 2386 - 358
EARAERETH | 29 3 |EEERT 2386 - 317 EARERETH | 31 9 |BEER 2386 - 360
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
EAERTH | 31 | 10 |[SEHER 2386 - 363 ENRERTH | 37 3 |EEERT 2386 - 240
ERERTH | 31 | 11 |5EER 2386 - 365 EnERTH | 37 4 |SEERT 2386 - 239
ERERTH | 32 1 S5 ER 2386 - 368 ERERTH | 37 5 |25 R 2386 - 238
EAERTH | 32 2 |&EERT 2386 - 375 ERERTH | 37 6 |=EFREHR 2386 - 237
ENRERTH | 32 3 |SEFERT 2386 - 376 EMXERTH | 37 1 | S ER 2386 - 236
EAXERTH | 33 1 S5 EHR 2386 - 347 EHAERTH | 38 2 |EHE 2386 - 15
ERERTH | 33 2 |&EERT 2386 - 351 EARERTH | 38 4 | SEERT 2386 - 13
ENERTH | 33 3 |EEERT 2386 - 352 ENERTH | 38 5 | & ERT 2386 - 12
EX”ERTH | 33 4 |SEFEHRT 2386 — 353 EX”ERTH | 38 6 |SEFEHRT 2386 - 11
ERERTH | 33 5 | &S ERT 2386 - 350 E,RERTH | 38 1 |&EEHR 2386 - 10
EAERTH | 33 6 |=EFREHR 2386 - 348 EAERTH | 38 8 | S EEmT 2386 - 9
EN”ERTH | 35 1 |25 EHR 2386 - 235 EXERTH | 38 9 |SEFEHRT 2386 - 8
ERERTH | 35 2 |EE5EE 2386 - 234 EAERTH | 39 1 | &5 2R 2386 - 22
EAERTH | 35 3 |EEERT 2386 - 233 EAERTH | 39 2 |&EERT 2387 - i
ENRERTH | 3 4 |SEFEHRT 2386 - 232 ENXERTH | 39 5 |SEFER 2386 - 23
EARERTH | 35 5 |25 R 2386 - 231 EAERTH | 39 6 |SEEHE 2386 - 17
ERERTH | 36 1 SRR 2386 - 252 ERAERTH | 39 1 S EHR 2386 - 18
ENERTH | 36 2 | & ERT 2386 - 251 ENXERTH | 39 8 |EEEmT 2386 - 19
ENXERTH | 36 3 |SEPERT 2386 - 250 EX”ERTH | 39 9 |SEFEHRT 2386 - 20
ERERTH | 36 4 | SEERT 2386 - 249 ERERTH | 39 | 10 |[SEHER 2386 - 21
EAERTH | 36 5 &S ERT 2386 - 248 EAERTH | 40 1 | == 2386 - 39
ENXERTH | 36 6 |SEFEHRT 2386 — 247 ENXERTH | 40 2 |SEERT 2386 - 40
ERERTH | 36 1 |5 ER 2386 - 246 EAERTH | 40 3 |EEEmT 2386 - 41
ERERTH | 36 8 |EEFEmT 2386 - 245 EAERTH | 40 4 | SEERT 2386 - 42
ENERTH | 36 9 |SHER 2386 - 244 ENXERTH | 40 5 |SEER 2386 - 35
ERERTH | 36 | 10 |[SEHER 2386 - 243 EAERTH | 40 6 |SEEHE 2386 - 36
ERERTH | 37 1 S5 EHR 2386 - 242 EARAERTH | 40 1 S5 EHR 2386 - 37
ERERTH | 37 2 | & ERT 2386 - 241 ENXERTH | 40 8 |EEERT 2386 - 38
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T2 6426 A3 0 B %M T2 646 1 3 0 AN
T F Pr B 1% Fr n = ,oF OPn B 1% Fr n =
BT 4 5|5 BT & E i BT 4 5|5 BT & & i
ENXERTH | 4 1 S EHR 2386 - 50 ENXERTH | 4 3 |EEERT 2386 - 60
EXERTH | M 2 |SEFERT 2386 - 51 ENXERTH | 44 4 |SEERT 2386 - 61
EAXERTH | 41 3 |EE R 2386 - 52 EHAQERTH | 4 5 |25 R 2386 - 62
EARAERTH | 41 4 | SEERT 2386 - 53 EAERTH | 44 6 |=EFREHR 2386 - 63
ENXERTH | 41 5 |SEFEHRT 2386 - 54 ENERTH | 4 1 | S ER 2386 - 64
EAERTH | 41 6 |SEEHE 2386 - 55 EHNERTH | 4 8 |EEFEM 2386 - 65
EARERTH | 41 1 S5 EHR 2386 - 56 EAERTH | 44 9 |SEEHR 2386 - 66
ENXERTH | 41 8 |EEEmT 2386 - 57 EAERTH | 4 | 10 [SEER 2386 - 67
EXERTH | M 9 |SEFEHRT 2386 - 43 ENXERTH | 45 3 |SEFERT 2386 - 70
ERERTH | 41 | 10 |[SHER 2386 - 44 ERERTH | 45 4 | SEERT 2386 - Al
EARAERTH | 41 | 11 [SHER 2386 - 45 EAERTH | 45 5 | &S ERT 2386 - 12
ERERTH | 41 | 12 |5EERT 2386 - 46 ENERTH | 46 1 |[SEHERr 2386 - 13
ERERTH | 41 | 13 |SHER 2386 - 47 EARERTH | 46 3 |EHE 2386 - 75
ERAERTH | 41 | 14 |[SEHER 2386 - 48 ERERTH | 47 3 |EEERT 2401 - 2
EAXAERTH | 41 | 15 [SEHER 2386 - 49 ENXERTH | 47 6 |SEFER 2386 - 87
EAXERTH | 43 1 S5 EHRT 2386 - 29 EARERTH | 47 1 |5 ER 2406 - 8
ERERTH | 43 2 |&EERT 2386 - 30 ERERTH | 47 8 |=EFEmT 2410 - 1
ENXERTH | 43 3 |EEERT 2386 - 31 EARAERTH | 47 | 10 |[SEHER 2406 - 10
EXERTH | 43 4 |SEERT 2386 - 32
ERERTH | 43 5 | &S ERT 2386 - 33
EARAERTH | 43 6 |=EFREHR 2386 - 34
EXERTH | 43 1 | S5 EHRT 2386 - 24
ERERTH | 43 8 |SEFEmT 2386 - 25
EARAERTH | 43 9 = EFEHR 2386 - 26
EAERTH | 43 | 10 |[SEER 2386 - 27
ERERTH | 43 | 11 |[SHER 2386 - 28
ERERTH | 44 1 S5 EHR 2386 - 58
ENERTH | 4 2 | & ERT 2386 - 59
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